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ABSTRACT
This project presents a detection and protection of fault that occurrs in a transmission system.
The system of [EEE 14 bus is used for this project. Symmetrical fault and Single tine to ground
fault are chosen to be a case study.
The results of this project are a MATLAB fault specific program for a IEEE 14 bus system

and the ability to create protective relay system according to IEEE standard.
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a “ a o 4
Susuiuandunsifaead ung z, Susufuaudanaoliiiinsd dapln 270) RINTEN

J.d. [ ) o @ ﬂ' L]
LINUNTI lﬁﬂ&ﬂ1ﬂﬂﬂ1ﬂuﬂ1iﬂ1u’lﬂl

¥
=

4 a A . - -
Weninsangln 2.7 ( sy vazifaeassiinl

=0 (2.52)
Vbr = (Z.f +Z')IH +Z.I‘ (2.53)
vV, = (Z, +Z')l‘ +Z1, (2.54)
mnzﬂ'ﬁ 2.7(b)
A 1.0£0°
L= Z +tzxz,+z,+32) @5
(z,+z)+ *

z,+2,+2Z 43z,

nnagm3tianszue 1idh

(z,+2z,+32)

S\ [ (2.56)
= (z,+z +3z2)+@2Z,+Z)
(z,+2)
L= L (257
(z,+z)+(z +2,+2)

" w o
501378 hus asil

—

=1, +1, +1, (2.58)
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dmswe I, uaz 1, 92’14

1,=—(,+1,) (2.59)

1 J o_ W
Tunsti z,~0 uez z,=0 wwmnszue IfhidmsSoddyldon

- 1020 260

Y2 HZ XZ)NZ,+Z,)

] o L] I (2.61)
2 Zn +Zz al
Z 2.62)
Ilﬂ e - In} (
Z, + Z

, 4 o 4
wimnszue IHshfvde b uag ¢ ysiaead Taomsunuaumsi 2.55,.2.56,2.57 aalu
s 2.3 o218

1,=1_ +al +al, (2.63)
Id‘ 7 l-o + aI.ll + a Il:l (2.64)
sl nseua fsui e tuaeiiminunzharead Ao

=1, +I, =3i (265)

] o of L 1]

1 [y Ad = W ﬂ' 1==.
s WM Sosdeu Taounuauntsf 2.55,2.56, 2.57 asluaunisn 2.29 o214

v =—ZI (2.66)
V. =10—Z] @267

vV, =12}, (2.68)
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o
PINTUNTITN 233

vd‘ = V.o +vﬂ + v-! (2,69)
v, =V, tay, +av, (2.70)
v, =V, +av, +a'V, .70

o ns 2 . - a d
wissndinilifie miAwssu A e buaz c aniiAnend ( V,, #a2 V) SINaUN N

e ° ' o P a o A
2.53 UazerNIn 2.54 3l i finovaefaood 16l

vV, =V, —V, 2.72)
V =V .V, (2.73)
v, =V~ W @79

ar o =] o *
nsil Z, = Ouoz Z,=0 nsasuhithidnsBesddueiiduiiu

V.=V, FV. .= 1.0—Z1, (2.75)

(1] 1 a2

) F} 1] 1 A o A L3
A 1, 1A 2,60 dau I, ey I, s dAdedloussdu IvihnfimiGesdny

d
NMNAUNTIN 2.75

= - (2.76)

a2

Iﬂl - (2'77)

NINANUFURUSVOIAUNMIN 2.75 wsasu i iasnzifiadeadnuansiuaunisi

2.692.70,2.71 Sadieuilu

Vd = Vm + V-l +vﬂ =3V“ (2'78)
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vV,=V,=0 (2.79)

V.=V, -V, =V, (2.30)
vV, =V, —VvV,=90 (2.81)
V=V -V, =V, (2.82)

° o ar [T Y - | ¢ o d
2.2 n1sﬂlmmlmﬂmmzn13uﬁam«lﬂﬂﬂ‘l‘lmﬁauﬂuﬂwumﬂinm
° w da v v v o A da
mimmmnszuﬁamqns‘luszuwuwm‘lﬂmﬂzﬂauﬂuqamnwcﬁ’aummmn'za'n'mu
v & W .. o Y v o o
mimJwanﬂumnmmmzﬁme111tmmmmmmuuﬂztﬂummumm'nzumufm*iﬁ"mnﬁ
o s ~ o & A = = [ oy & t
BuRuaudiaind uﬁﬂnwuﬂwﬁmmﬂfﬁt’i’lummneﬁ"’(ﬂ'sqmuwwuﬁmﬁmﬂﬁwanu
'ua~m'in'szwiuﬁﬁwimunzﬁquﬂﬂafiﬁnﬁuﬂuﬂuﬂ‘mﬁnqunmﬁsﬁﬂﬁuu NOTUI905
4
flszneuain n Nodes
o o = @ o =
NANQUBANBIFERATINMNTATEUUTIAUN Node a9 lugilveansziapanin Node

¥
viuqlddseums

v=zZ 1 (2.83)
=

ko]
Tas  V ilu Columm Vectors YBUSIAUTIIAIIY

1 11 Colummn Vector Y84AIZUATNBONNINTIARILE INLMAITENTSU

mumsthaduannsadonldtug

-Vlj _Zn Zn ot 'Zi. -‘-Il_
v, z, Z, ..-Z, |i1,
(2.84)
A\ Z . 1
L_ .l_ L ml Z-) Z- _L LI




Sagul14iiu
v=2z1+2]) +.+Z]1
v=z1+21 +.+Z]I,
v=z +z 1 +.+Z]
»
nnaunEatesee 190
_ll Zu"'ZlnT
"R\ B\W)
N n In
z_=
zZ Z Z
A al nl - )
Tavz,, fi0 Bus Impedance Matrix

58013 From Z,, N30 Idmang3s ensisu
e
L. mm 2z, Taemsafdounalaeen Inverse Admittance Matrix ( Yy,,)

b4
2. ™3 From Z,, Tavl¥msviniasnilsiunsuuuneeniiy

-3 Branch

-NFIAY link
[-] - ar ‘J
AMSATUIMNTZUE Short Circuit 11312993 3 Phase nannalasld z,,

1. Balance 3 Phase fault
- 4 o
gAT lumsdamunIzue Fault il Fault 9 Bus n 199 werne 1Al

w 4 A o A o o
Uay 153Uy Bus k 1.?1"] 1oInA Fault ¥ Bus n nrlafsd
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(2.85)

(2.86)

(287
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v=v|1-% (2.88)

2. Single line to Ground Fault

[+ ] A = A ar H
ges lumIfIuNTZUN fualt §eifin Fault 1 Bus n 1aq teea 1@

\'%
[ =1 =1 = 2

z_+z_+7_+3z, (2:89)

o A a a v o
uae u53Aui Bus k Inq dieifia Fault 71 Bus n w1 147451

vm 0 th 0 0 Inu
VoIFIYNIT1e Z, 0 |1, (2.90)
V.u 0 0 0 Z‘_o 1_z

o ¥ o Ai 3 Jd ¥ =
methamaInsinauiesinansanunazyiia

Ty Ty
1

* D

e

{ @ 1 Py A o ' -
71 2.8 @061 uasnsdnuieiaendudns viia

Tond 90 oneline diagram uemaRaz) 2.8 generator gRABNS ground Taefinsue

o @ o . [ L |
91ARAN 0.25/3 per unit YUV [00-MVA LS generator liswInon Tﬂummqq'um*iz'uu
naadlumisn

mnssWihvawfiaroadiuusig

2) wAWeaduUT TR bus3 TaoR fault impedance Z,=j0.1 pu

b) ianenduuy single line-to-ground ﬁ bus 3 Tﬂﬂﬁ fault impedance Zj0.10 pu
c) iadpadiuy line-to—lineﬁ bus 3 TﬂUVAI fault Wance Z=j0.1 pu



a =t
d) naneamiLy double line-to-ground fault 1 bus 3 Tﬁﬂ‘ﬁ fault impedance Z=j0.1 pu
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Item Base MVA Voltage Rating x' x b'y
G, [¢0 20kV 0.15 0.5 0.05
G, 100 20kV 0.15 0.15 (.05
T, 100 20/220kV 0.10 0.10 0.10
T, 100 207220V 0.10 0.19 0.10
L, 100 220kV 0.125 0.125 0.30
L, 100 2206V 0.15 0.15 0.35
L, 100 220kV 0.25 0.25 0.71

MIf 2.1 M1 vedsTULAIet

@ouwosuaaadnuuan ldnegl

§0.15 §0.15 §0.16

0.1 0.1
§0.125

70.035714 70.059524
j0.071428

U0 29 Wuuresurmadiauun

W1 Thevenin impedance viewed nvoad bus (bus 3), 31EN0LAI93 delta 10

v o o d
buses 1,2,3 iu 2993 Y Aauermalugildandred 2.9

_ (j0.125)(j0.15)
" j0.525

= j0.0357143

_(j0.125)(j0.25)

kL)

= j0.0595238
j0.525
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(j0.15)(j0.25)
Z, = =i0.0714286
j0.525

¢4 Thevenin impedance ¥83d U0

. (j0.2857143 X j0.3095238 )
Zyw= + j0.0714286
j0.7339449

= j0.1485714 + j0.0714286

= j0.22
70.22 50.22
Y Y™ —)
Es
-0 —0
aNVIdIARn b) 2993t UAY

311 2.10 Thevenin impedance Y4810
impedance Y09 ALAY tMilouRL impedance YBdIvLILIN L 14
Z»=7Z' =j0.2

Y1 Thevenin impedance 01m‘|ﬂﬁﬁ. bus (bus 3), W WSNUUAIIITT delta 910 buses [,2,3
o . o
i 2993 Y Asueralugaifieded 2.11

(j0.30 )( j0.35)
z = = j0.0770642
jl.3625

(j0.30 )( j0.7125 )
z, = = j0.1568807
jt.3625
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9218 Thevenin impedanceyp 8 1ALgUY
_ (j0.35 )(j6.7125 )

" = j0.1830257
jl.3625
. (j0.4770642 X(j0.2568807 )
Z2' = + j0.1830275
§0.7339449

= j0.1669725 + j0.1830275

= j0.35

U 2.11 Thevenin impedance YBafALGUD

70.35.

Y\ o

31 2.12 impedance vosdugUE

a) (aWoafULE AN bus 3

tUNAD generater Mitwvan Z, = 1.0 pu, mzurvuiiavondfie

V.o 1.0
1°(F) = = = —j3.125 pu
z'+z,  j0.22+j0.1

=820.1Z —90° A



Y - -J. .
b) Hnvoadiuy single line-to-ground 1 bus 3 Tauh fault impedance Z=i0.10 pu

minseaela
o . . v,"(0)
I'=1'=1"=
z '+ z '+ z.'+3Z,
B 1.0
j0.22 + j0.22 + j0.35 + 3(j0.1)
= — j0.9174 pu
nszueindhvnziiavend
Lo~ —T. ..l ...T T
I, 111 31, — j2.7523
i*l=[12aa lj1°l=|l0 |= 0

RO I T | IS I R I

- - 4
o) iapARILY lineto-line 7l bus 3 TG fault impedance Z0.1 pu

N9 IRLUT
L7520
A
S\ K IS S
: oz +z,+ 2z,
1.0

j0.22 + j0.22 + jO.1
= — j1.8519 pu

nysua Wihunzifaend

i*1{=|1 a°a || —jL8519 |=]|—3.2075

L* 1 a a ||— i1.8519 3.2075
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a o i
d) fnrondiy double line-to-ground fault 91 bus 3 Tsf fault impedance Z=jo.1 pu
aszud Iivesdwuuan
v,' (0)
3 F [1]
) z'+Z” (z,"+3zZ)

»

zZ''+z "+3Z,
1.0
j0.22 (j0.35 + j0.3)

j0.22 + j0.35 + j0.3
= —j2.6017 pu

j0.22 +

aszue W sdauny

Vi) —z '1°

3

R
I = e

13

1= (j0.22 X — j2.6017 )

j0.22
= jl1.9438 pu
nygue Tvihunsdrnugud

ViO)y—z 1’

3

I =
%y 1. 3%

_1—(j0.22 X(— j2.6017 )

j0.22
= j1.9438 pu
uagmnszud I weaaen
I’ 111 j0.6579 0
1*| =1 a" a |[[—j2.607 |=| —4.058.L165.93°

1° 1 a a jl.9438 4.058 £14.07°
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nszue i vazvend
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v, Ain nssduiinanndeasiuveoaeIa o
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2.3 myifasnuszuyindh

o T o o A
szuudlestulseneudugunsainarvetefannagii 2.8

] A
6
A
3. Trip Coll

* §
4. Trip Circuit

1 g 3 4 5. Balleries
6. Relay Contacls

7.7
(o)

7
1.CB
2 2. Relay

_IYI_.

8.CT
a, Auxiliary Contact

I
i
|
|
|
|
|

X

a
il
5
il 213 uasdaulsznevvesszuutlostiu

detivnsszuutiosiunnnfagiii 2,13 ealseneudan Circuit breaker(1) SnuT x WU 29
yfdeensfloafideiugdudunlse dlodaaadiulunansfideansflosiu Relay (2) B3
Sudfymnnnn VT (7) uaz CT (8) Ui Contact 43 Relay (6) seminuiidadmdu de
Contact Tnnzfinszualuaniniuanes (5) uaassnin (@) definszunlvakuvanin nin

- — A o
Y84 Circuit breaker (3) Circuit Breaker s2liaa9vsifiadnnnsennsinszuu T

ssuutlestuTaeiatyl ssaseneutufiasdoudiwig 4 dou fle
Circuit Breaker,CB
Protective Relay
Trip Circuit
Current Transformer:CT,Voltage Transformer; VT
2.3 (1) Protective Relay

P | 9 o ar 4
Aegunsain dfunesauvuliaunseiuminszqu nndygpaiwlannnaszu

T iumamdeudasnssuduasmiondentomssdiu Relay szasrsdunnzinlnd Tau
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fmsiaSinams i inasanasinda ldlunednduaznngAnlndezuansieiu
Bnseifhidnadaadedansiodnd 1Bud wedunszua e qumaTidh
Relay onweziidgyanendmilieds mioinandmiliededld Susuwilaves Relay diovwn
vosdygradimaennaiitwmual¥ Relay e wihidudaverelay sxdlatiliaeemin

asuaes IRinszua nashuvaalaiemves cB i ldueamhiudasensiniu

2.3 (2) Trip Circuit UdY Batterfes
Y d 4 '
2e9sninszlszneudisae Iiuasuumee’ flounszuadhduaninve Circuit
»
o a A s
Breaker HBNVINTILIDIT Relay D191}52NOVAIY Time Delay N30 Auxiliary Relay Hudn
‘E é = 1 1 = a d,
DINFUN 2.14 FUUARIIIAVRNAIININOIWIW s msaeFnedsil
A 1) L=] = H L
o B ogludame ON ,Contact 522 92 Close Winiiaviond nlmiiletu
A ] A o al -9
Relay #vinnifidlesfusediuvlond nasdedgonalh Relay contact Tuaesniw vhnts

¥
Close Fe9zifiu1g i nstnees aniudafinszualnardu TripCoil ¥oa CB ¥illd CB QlAas

Baltery (+)
J_ —L Seal - In a0 +
Relsy Contacts Contacts

Light

Seal - In

52TC Targel

Trip Coil

Light

CB Aux Contacts

52a
I 30 -

Battery (-)

; o -
s 214 tmanesilFlumsssuquaianin

' A ' = '
singalezdtuinidinile Relay Contact eglusoiug Close sxdldtinasueinaru Seal-
A L] d' 1 L]
In Coil @at1s¥ Seal-n Coit M3 Close TamlszTomivesdau Seal-In fifie vryIwie
nIzue oM Relay Contact i Idgautianyms1¥amiuna Relay Contact 18

L o A ¥ U
Tudus42993 Target lugilozvimdhiidadoygin iy Flag Fadoul opertor
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m‘m’i’uﬁmlmﬁ%uuazmn;ﬂmﬁu'lﬁ"h oW (Light) Sefleg 2 a2e wdiudanseey
A5n131Ra Ground Fault TugaMye¥2983 Trip Circuit 3o i nafe dwmadWilidan 2a9
sesdoiaudiviled uriiiane ananitedu Ty uermedifnGround Fault u

Tauwa'l1) Trip Circuit n~°lwaea1u‘1ﬂﬂ1ns~1nﬁmammmnmm msmvm‘lﬁ Relay 1ifin
&1l Trip Circuit Breaker ‘[ﬂmmnmﬂ'lﬂv’hnsuuﬁﬂnumnﬁmuﬂ’mummuu fhudedd
Nimzauegts waz lunsdl Fault wensdlisu Tree Phase Fault g2 hiftuseduluaanil
Withuao e ilistunaamdanu i 1 Equipment #13q lugandiinu éati'lumqﬂn
fdssldunmnedifhusndionianu FsunnneseraonnasiuR Charger Hozd? Charger o
Dy Charge Winamet issduiaunsiiogaasanm aaluns @i ey wameInIie
1dethaion 8-10 $1Tnset 19roiiios uazluszun BHY gefinsnuniuaAeIung Charger
N Equlpmcnt fugan lal wazifluvingwiuRiElectromechanical Relay s Wife
Transients 3ulu3zLY 2 rentavsiinasunauii iy Relay vhandianann snifumaadaesd
fmuuquﬂu'mmqaﬂ'%i a2 g0 {10198 Blectromechanical Relay g Solid State Relay Tao'lu

% saudu

2.3 (3) Current Transformer ; CT, Voltage Transformer ; VT

nioulasnszud (Curent Transformer ,CT) naeyneulaanssdy (Voltage Transformer
VT) ﬁmmmu]mni"uﬁun‘“wsaﬂuﬂmmﬁumﬂ“ Sinaunngussduga Widhunssueniog
smﬂuwnﬂimmueuq dusesuduiteamnsedloudhd Relay 1A Tamiallnszuaesd
'vmﬂmmgmn 1A v 5A dmfundbwlosnseud uazisasuf 110V vie 120 dmiy

ndswtasau

2.4 feuiAveassuuteaiy

apuilsmawitalss lumlvos Relay ‘lums*n'nvmun'nmﬂ'nmﬁﬂmumwasmmu'lﬁ'
Tuszruuaslunnnasgu Tuvnziiizieg cosnunyszundloeiubifinu Sdouasew
atatsflaenngiasel Relay dedlfnudeaiinonudile eMarnnsoonuuy
rmWetagndosmainglss saadszuuilosufianaifnuasiiag il
- Reliarbility, Dependability,Security
- Selectivity
- Speed
- Simplicity

- Economics
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Reliability ¥1099 auaoasdlunTminiueuysl Relay lusaeiamuiniuawnse
iandido3e Saslendreila Reliarbility Aoayntiedn 2 etife

Dependability 110 msﬁiuuuﬁaaﬁuﬁaaﬁ'muQﬂ&’amnn%’aﬁtﬁa Fault 4Ag D4
mamqnﬂmﬁmm Fault nnuuu#’f'm unzdehn1dluvasfidesms e iu o1
AR ue 9 ﬂﬂ‘lﬂf]ﬂﬂ'lmmmmﬁ’umamw"na:m*mu ul ezl idenndu
szpznamudafian

Security ¥wia sznutlesiudedhiviam e Idaans e iy szdsabiivhem
tune Inasn@ nSeifian1ae transiens $vme wie tloiRaonduenivansilesiumsdn
2995 Taeliiddhuse deraltifaanudomenarsuiis

winesszuu g yaszuune v b Dependability g9 Fanedannlinom
fuWugvoa Security 1iouag Aot nonnmudiugd i szou b luileguitil - avandiu
Network 1139 Ring main ity FardameIWdhil 3uanems TuszuadeanieClear
fault anﬁ'aﬂﬂu‘lﬂ Path *n'lummﬂﬂqnuﬂaanmm'lamu'lﬁaguu Sinmduiusunii
Susuan uagmafiaz Clear Fault 118 Tanliouledh & 77 parh Adnasu oo duna
dfgfisosad éaﬂsaﬂmum‘h’i’lﬁﬂ

Selectivity NI Security FaozihuuinaClose) nielidma (Open) 14 vioen
Afmaanlddh Selectivity Ao M3 1% Relay Hranulu Zone mammu‘lﬂﬁmuumm
Felaonn  UoLWAYBS Zone if 428 2 Bquipment R ayginssinneu dainnanuila
Circuit Breaker 1101$ Transmitter éﬂﬁ’ﬂﬂmﬂﬁi CT (Current Transformer) L YBLIVAYDI Zone
ﬂ”gﬂﬁ’lﬁﬂIﬂUﬂ?L’]ﬂlﬁaﬂgﬂ ct thuesdemsmeumelu Zone fiedl CT dluddy
Soggiai Faults wwidad) CB dludafaneuiion Faults 991IN31

Speed 3zvutloafiuee vdpegniotinsdethasnd mefignsaideg "lumum i
Eome Aalasialludtehandariniglnsdfe 185uncunlaeadiy uihanenduite
Wimsvheulseruiuesezdedimmisummidmonunis

$afitenld Sindnszumpu ( Overcurrent Relay ) 50,51,50/51,51V] Sindnszueniudiu
'*’s'mtf?hﬁ’i'ﬁuum"nnwmnﬁqﬂ'lumsﬂmﬁuns“umﬁuﬁtﬁﬁmﬂmsﬁ’maw‘lunssuﬂ‘lﬂ%
mm‘luﬁmuﬂv*ﬂaummmmn wu amitldfhden ewmsvwialng l.lﬁ“’IiN”luQﬂﬁ‘m-
assy Shidy Taufifasiia Blectromechanical Relay Uaz Static Relay Sduiiatiosiadlo
finszuafAusifmuna’l’ Ao Pick up Taplunamstaiuesseiinuiufilung 10ms-
40ms Bun) 1L Instantaneous Overcurrent Relay (50) wiefimaiaumiziam Sonh

Time Delay Overcurrent Relay (51)
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2.5(3) MINITIMIMINIUBIdistance relay
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Newton-Raphson
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Sommagnnamm Load flow 3

syuivghide 1EEE 14 BUS Iatd% Newton-

] o Y& 1.d wa
Raphson ¢ 1drantsfuanfeminei 4.1 A& nmasnaidumfin susaunan

g (V) yuirdrpausanu (delta) Inarnuaudeunss
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vy a9 ldaunaiilusdB o ld

L H =) J o Qr
‘lumsf’a’umﬁ‘muuwmﬂanﬁﬁmﬂw‘lu'izw‘lﬂﬂﬂmm 1EEE 14 BUS

Bus vV (p.w) delta
I 1.0600 0.0000
2 1.0450 -0.0870
3 1.0100 -0.2223
4 1.0153 -0.1794
5 1.0184 -0.1527
6 1.0700 -0.2417
7 1.0608 -0.2327
8 1.0900 -0.2327
9 1.0556 -0.2602

10 1.0507 -0.2630
11 1.0567 -0.2576
12 1.0581 -0.2634
13 1.0557 -0.2667
14 1.0368 -0.2801
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Bevmslalsunsufunmunzoiunend Tassnhmsguiieondeyagel 5 - uans

o t =y J Aw =y
Hadams1942 szdiudiAerendiuiity 5 dludendiia Symmetrical fnszucavlond

1 é o 1]
0.478012 p.u. S108%3Ta 5 Trip breaker BWINIY clear fault 9ONYINTEUY gausun 1w

&

s sz o pa.
TYPE OF FAULT CURRENT FAULT(p.u.) Relay trip breaker at Bus
Symmetrical 0.478012 s
Voltage when have fault
Bus V (p.u.) IVI(p.u) Deltal V1
1 0.0467 + 0.0039i 0.0468 -1,508
2 0.0312 + 0,0043i 0.0315 2.9668
3 -0.0064 + 0.00521 0.0083 3.0273
4 -0.0119 + 0.0036i 0.0124 3.0252
5 0 + 0.0000i 0 3.0401
6 -0.0054 + 0.000% 0.0055 3.0364
7 -0.0628 + 0.0033k 0.0629 3.0667
8 0,0272 + 0.0033i 0.0274 29618
9 -0.0777 + 0.0031i 0.0778 3.0742
10 -0.0773 + 0.0028i 0.0773 3.0751
11 -0.0763 + 0.0019i 0.0764 3.0773
12 -0.0756 + 0.0010i 0.0756 3.0792
13 -0.0758 + 0.0011i 0.0758 3.0788
14 -0.0768 + 0,0023i 0.0769 3.0762
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sequence , Positive sequence ‘llmv]ﬂﬁ'ﬁ

TYPE OF FAULT CURRENT FAULT Relay trip breaker at Bus
SINGLE LINE TO GROUKND 0.485293 1
Voltage when have fault
Bus V(p.u) V(p.u) V(p.u)
(Zero sequence) (negative sequence) (positive sequence)
1 0.0600 1.0600 1.0600
2 0.0276 1.0450 1.0450
3 0.0225 10100 1.0100
4 0.0363 1.0000 1.0000
5 0.0300 1.0000 1.0000
6 0.0354 1.0700 1.0700
1 0.0887 1.0000 1.0000
8 0.0110 1.0900 1.0%00
9 0.1044 1.0000 1.0000
10 0.1044 1.0000 _ 1.0000
11 0.1044 1,0000 1.0000
12 0.1045 10000 1.0000
13 0.1045 1.0000 1.0000
14 0.1045 1.0000 1.0000
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clear;
clc;
loadflow;
symfault;
%value When fault begin
%VYmm;
fprintf ('choose Dala of fault )
p=input(\n\nchoose Data for 1 to 28 \n Y%
H=1:1:14;
if =1
if R(1,0)=max{R(:,n))
fprintf('now have faultatbus 1 )
%fprint(\nfault is symmetrical fault ' )]
1f = abs( 11);
disp(’ )
fprintf("\n\n  TYPE OF FAULT CURRENT FAULT(pv)  relay trip breaker at Bus )

fprinti{"nio\n symmefrical %51 1 \n\n\n', If)
disp(* )
figure(1)

plot(H,X1,H,Vt)

fitle("Voltage in Bus')

xlabel(bus')

ylabel(‘voltage (p.u))

text(6,1.0, Voltage from load flow’)

text(6,0.1, Voltage from fault’)
disp(" Voltage from fault’);
disp(’ Y%
disp(BUS V(pu) deltalV] ")
disp(* %
fprintf{'%2.0F %2.4f %2.4f '\ XXI1)
disp(" %

end

elseif n—=2
if R(2,n—max(R(;,n))
else fprint{’now have fault atbus2 '}



%fprintf{"fault is symmetrical fault ')
If = abs(12);
fprintf("o\n TYPE OF FAULT CURRENT FAULT(p.w)

relay trip breaker at Bus ")

fprintfnwi\n symmetrical %51 2 oo\l ID

figure(2)

plot{H,X2,H,Vi)

title("Voltage in Bus")

xlabel(bus’)

ylabel(*vollage (p.u))

texi(6,1.0,Vollage from load flow”)

1ex1{6,0.1, Voliage from faull)
disp(*-Voltage from fault-—-7,

disp(" %
disp('BUS V(pu) delta|V] ")

disp(" %
fprint(('%2.0f %2.4f %2.4[ \n',XX2)
disp( %
end

elseilf n=3

if R(3,n}==max(R{:,n})

else fprintfi'now have fanki at bus 3 ')

%fprint{('faull is symmetrical fanit ‘)

I=abs(13);

fprintf("\n  TYPE OF FAULT CURRENT FAULT(p.u)

fprintf(‘"\n\n\n ~ symmetrical %51 3 \n\n\n

figure(3)
plot(H,X3,H,¥1)
titte("Voltage in Bus")
xlabel(bus")
ylabel(voltage (p.u))
text{(6,1.0,'Voltage from load flow’)
text(6,0.1,'Voliage from fanlt)
disp('—Voitage from fault-—);
disp(" JR
disp(BUS V{pu) deltalV] 9
disp(* %

relay irip breaker at Bus )
LID



fprinti{'%2.0f %2.4f %2.4f \n',XX3)
disp(" %

end

elseif n—4
if R{4,n}=max(R(:,n))
else fprint('now have fault atbus 4 ')
%fprint((‘fault is symmetrical fault ')
If=abs(14);
fprintf{"m\n =~ TYPE OF FAULT CURRENT FAULT(p.u)  relay (rip breaker at Bus ')
fprint("\n\n\n ~ symmeirical %St 4 ‘\nm\n\n I}
tigure(4)
plot(H,X4,H, V1)
title("Voltage in Bus')
xlabel('bus’)
ylabel(*voltage (p.u)")
text(6,1.0,'Voliage from load flow')
lext(6,0.1,"Voliage from fault’)
disp(*--Voltage from fault---—);

disp(" %
disp(BUS V(pu) delia]V] 7
disp(* %
fprintl('%2.01 %2.41 %2.4f 0\, XX4)
disp(' %
end
elseil n=5

if R(5,ny=max(R(;,n))

else fprintf{'now have fault atbus 5 *)

Y% fprintf'fault is symmetrical fault ')

If = abs(I5);

fprintf(n\n  TYPE OF FAULT CURRENT FAULT(pu)  relay trip breaker ai Bus )
fprinti(\\n\n  symmeltrical %5f 5 \o\n\n 1)

figure(5)

plot(H,X5,H,V()

title{'Voltage in Bus")

xlabel('bus")



ylabel('voltage (p.u)?)
text(6,1.0,'Voltage from load flow")
tox1(6,0.1,'Voltage from fault’)
Tablel=[bl"; Vm ;delta];
disp{'-Voltage from fault-—-;

disp(* %
disp(BUS V(pu} deltalv] ")

disp(* %
fprintf(’%2.0f %2.4f %2.4f \n',XX5)
disp(' %
end

elseif n—6

if R(6,n)=max(R(:,n))
prntf{’'now have fault at bus 6 ')
% fprint{("fault is symmetrical fault *)
H = abs(16);
fprintf("o\n TYPE OF FAULT CURRENT FAULT(pu) relay frip breaker at Bus "
fprint{o\o\n  syrmmetrical %St 6 \oon ,If)
figure(6)
plot(H,X6,H, Vi)
title{"Voltage in Bus")
xlabel{'bus’
ylabel(voltage (p.u))
text(6,1.0,'Voltage from load flow")
text(6,0.1,Vollage from fault")
disp{'—Voltage from fault-—7);

disp(" %
disp(BUS V(pu) deltajV} ")
disp(’ )
fprintf(%2.0F %2.4F %2.4F \n',XX6)
disp(* %
end
elseif =7

if R(7,n)}=max(R(:,n}))

fprintf’'now have favltat bus 7')



%fprintf('fault is symmetrical Fault ')
IE=abs(IT) ;
fprintf(\m\n ~ TYPE OF FAULT CURRENT FAULT(pu) relay trip breaker at Bus ')
fprintf{\o\n\n  symmetrical %51 7 waon LD
figure(?)
plot(H,X7,H,V1)
title("Voltage in Bus')
xlabel('bus’)
ylabel('voltage (p.w))
text(6,1.0,'Voltage from load flow")
text(6,0.1, Voltage from fault’)
disp(*-Voltage from fault-—-;

disp(* %
disp(BUS V(pu) deltalV] ")
disp(’ Y%
fprintf('%2.0f %2.41 %2.40 ‘o, XX7)
disp(" %
end
elseif =58

if R(8,n)=max(R(;,n))

fprintf{(’'now have faultatbus 8 ')
Yofprinti{*fault is symmetrical fauli ')
1f=abs(18);
forintf("o\n  TYPEOF FAULT CURRENT FAULT(pu)} relay trip breaker at Bus )
fpint{C\n\n\n ~ symmetrical %%5f 8 \n\n\n If)
figure(8)
plol(H,X8,H,vY)
title("'Voltage in Bus")
xlabel(bus®)
ylabel(voltage (p.u))
text(6,1.0,'Voltage from load flow')
tex1(6,0.1, Voliage from fanli")
disp('—Voliage from Lauli-—");
disp(" %
disp(BUS V{pu) deltalv] 9
disp{* )




frint(%2.0f %2.4f %2.4f \o'XX1)
disp(’ %

end

elseif n—9
if R(9,n)==max(R(:,n})
fprinti'now have faultatbus 9 *)
Yofprintf{'fault is symmetrical fault ')
If= abs(19);
forintfi’dn =~ TYPE OF FAULT CURRENT FAULT(pu) relay trip breaker at Bus ")
fprintf("e\n\n  symmetrical %Sl 9 \n\n\n  \ID
figure(9)
plot(H,X9,H, Vi)
title("Voltage in Bus")
xfabel(bus’)
ylabel(*vollage (p.u))
text(6,1.0, Vollage from foad flow’)
lexi(6,0.1,Voltage from fault’}
disp(’~Voliage from fault——--);

disp(’ %,
disp(BUS V(pu) deltajV] ")
disp(* %
fprintf(*%2.01 %2.41 %2.41 \n',XX9)
disp(’ %
end
elseil =10

if R(10,ny=max{R(:,1n))

fprint{('now have fault at bus 10 ')

%fprintf(’ fault is symmetrical fault ')

fprintf("Show fault at bus 10*)

[f= abs([10); _

fprinif"\n  TYPEOFFAULT CURRENT FAULT(pu) relay trip breaker at Bus ')
fprintln\n\n symmetricai %51 10 \n\n\n  LID)

figure(10)

plot(H,X10,H,Ve)

title('Voltage in Bus")

xlabel('bus)



ylabel('voltage (p.u))

text(6,1.0,'Voltage from load flow")

tex((6,0.1,'Vollage from faul(")
disp('~Vollage from fault-—-";

disp(* Y
disp('BUS V(pu) della[V] %
disp(’ )
fprintf('%2,0f %2.4f %2.4f \n",XX10)
disp(’ ",
end
elseif n—11

ifR(1 1, n}==max(R(:,n))

fprintf'now have faultatbus 11 *)
%fprint{{'[ault is symmetrical faull ')
If= abs([11);
fprinifin\n  TYPE OF FAULT = CURRENT FAULT(p.u) relay irip breaker at Bus ‘)
fprintf("n\n\n  symmetrical %5t 11 \nin\n', 10)
figure(11)
plot(H,X 1 1,H, V1)
title("Voltage in Bus")
wlabel{'bus?)
ylabel(‘voltage (p.u))
text(6,1.0,'Voltage from load flow")
text(6,0.1,Voltage from fault)
disp{'—Vollage from fault—-0;

disp(* Y%
disp('BUS V{pn) deltajv} "
disp(' %
fprintf(%2.0f %2.4f %2.4f \n',XX11)
disp(’ %
end
elseif n—12

if R(12,n)=—max(R(:,n))

fprintf'now have fault at bus 12 *)
Yefprintf{'fault is symmetrical fault *)
If= abs(112);



fprintfn  TYPEOFFAULT  CURRENTFAULT  rlay trip breaker at Bus )
forintfo\n\n symmetrical %St 12 \o\n\n 1)
figure(12)
plot(H,X12,H,V()
title{"Voliage in Bus)
xlabel('bus’)
ylabel('voltage (p.u))
text(6,1.0,'Voitage from toad flow’)
text(6,0.1,'Vollage from fault’)
disp(*--Voltage from faplt-—-~7;

disp(* %
disp(BUS V(pu) deliaV] ')

displ(' ),
fprintf(%42.0f %241 %2.40 ', XX12)
disp(" %
end

elseif n—13

if R(13,n)=max(R(:,n))
else fprintf’now have faultat bus 13 )
%fprint{(*fault is symmetrical faull * )
If=abs(113}),
fprintf\o\n ~ TYPE OF FAULT ~ CURRENT FAULT  relay trip breaker at Bus )
forintf(\n\n\n  symmetrical %5f 13 \n\n\n LID
figure(13)
plot(H, X 13,H,V1)
title('Voltage in Bus)
xlabel('bus’)
ylabel('voltage (p.u))
text(6,1.0, Voltage from load flow’)
text(6,0.1,"Voltage from faull’)
disp('—Voltage from fault—--");

disp(' y
disp(BUS V(pu) deltajV] 9
disp(" %

fprinti('%2.0f %2.4f %2.4f \n',XX13)
disp(* %




end
elseif n=14
if R(14,n)=max(R{:,n))
else fprintf{’now have fault at bus 14 ')
%fprint{(*fault is symmetrical fault ')
If = abs(114);
fprinto\n  TYPEOF FAULT CURRENT FAULT  relay trip breaker at Bus )
fprintf("n\o\n  symmetrical %SF 4 \n\n\n I
fipure(14)
ploi(H, X 14,H,V1)
title("Vollage in Bus®)
xlabel('bus’)
ylabel('voltage {p.u)")
tex1(6,1.0, Voltage from load flow")
texf(6,0.1,'Vollage from fauit)
disp(—Voltage from fauli——";

disp(‘ %,
disp(BUS V{pu) deliafV} "

disp(" %
fprintf(*%2.0f %2.4f %2.4f \n',XX14)

disp(’ %
end
elseif =15
you3
clseifo—16
youd
elseif p—17
yous
elseif n—18
yout
elseif n—19
you?
elseif n=20
yous
elseif n=21

you9



elseif n=22
youlQ
elseif =23
youll
elseif n==24
youl2
elseif n=25
youl3
elseif n=26
yould
elseil n==27
youls
else n=—28
youlb

end

TWsunsuimazvidead

clear;
¢le;
loadflow;
Zbus=inv(Y bus);
9%2~0.16%j;
V ={1.0600 ;1.0450 ;1.0100 ;1.0 ;1.0 ;1.0700 ;1.0 ;1.0900 ;1.0 :1.0;1.0:1.0;1.0;1.01,
V1=V{:,1) ;[1=V(1,1)/Zbus(L,1)) 12=V(2,1)(Zbus(2,2)); B=V(3,1)/(Zbus(3 30 4=V, D Zbus(4,4));
I5=V(5,)(Zbus(5,5)); 16=V(6, )(Zbus(6,6)); I7=V(7, DAZbus(7,7); 18=V(8,1)(Zbus(8,8));
19=V(9, L)/(Zbus(9,9)); 110=V(10,1)/(Zbus(10,10)); 11 1=V(11,1(Zbus(11,11));
Il2=V(12,I)I(Zbus(12,12));113=V(l3,l)l(Zbus(l3.13));114=V(l4,1)I(Zbus(l4,14));
%when faults at bus
V=V 1-Zbus(:,)*I1;
%fprintf'  Bus Current during the fault at busl")
112&=(VIL(1, 1)-VIL2,1))/Zbus(1,2);
1 5E=(VE1(1, 1)-VIL(5,1))/Zbus(1,5);
V2=V 1-Zbus(;,2)*12;
%fprintfl’  Bus Current during the fault at bus2)
R1E=(VE(2,1)-VI2(1,1))/Zbus(2,1);
23E=(V2(2,1)-V2(3, D)/ Zbus(2,3);



1241=(Vf2(2,1}-V£2(4,1))/Zbus(2,4);
1256=(V£2(2,1)-VR2(5,1))/Zbus(2,5);

Vi3=V1-Zbus(:,3)*13;

%fprintf'  Bus Current during the fault at bus3")
1326(V03(3,1)-VI3(2,1))/Zbus(3,2);
134f=(V3(3,1)-Vi3(4, 1)¥Zbus(3,5);

Vi4=V1-Zbus(;,4)*14;

%fprint'  Bus Current during the fault at bus4’)
[426=(V14{4,1)-Vd(2, 1)y Zbus(4,2);
[43=(V14(4, )-VA(3,1)yZbus(4,3);
[45f=(V{4{4,1)-VH4(5,1))/Zbus(4,5);
1476=(Vi4(4,1)-V4(7,1))/Zbus(4,7);
149=(Vi4(4,1)-V£4(9, D)V Zbus(4,9);

VI5=V1-Zbus(:,5)*15;

%fprinl{'  Bus Current during the fault at bus5’)
151 E(VIS(5,1)-VI5(1,1))Z5us(5,1);
abs(I511);
1528(V15(5,1)-VI5(2,1))/Zbus(5,2);
abs{[52f);

I541=(V15(5,1)-VE5(4, DY Zbus(5,4);
1566=(V15(5,1)-V15(6, 1)}/Zbus(5,0);

V6=V 1-Zbus(:,6}*16;

S%fprint("  Bus Current during the faull at bus6’)
165£=(V16(6,1)-V6(5,1))/Zbus(6,5);
[611£=(v{6(6,1)-v6(11,1))/Zbus(6,11);
1612£=(V16(6,1)-VI5(12,1))/Zbus(6,12);
16131=(V16(6, 1)-V16(13, 1))/ Zbus{6, 13),

V{7=V1-Zbus(;,7)*17;

%fprintf'  Bus Current during the Fault at bus7?)
[74f=(VEI(7,1)-VE1(4,1))/Zbus(7,4);

78 E=(V11(7,1)-VI7(8,1))/Zbus(7,8);
79E=(VIT(T, 1-VE2(9, ) Zbus(7,9);

Y18=V1-Zbus(:,8)*18;

%fprintf'  Bus Current during the fault at bus8’)
I876=(VIR(8,1)-VIB(7,1))/Zbus(8,7);
I89E=(VIB(8,1)-VIB(9,1))/Zbus(8,9);



VO=V1-Zbus(:;,9)*19;

%fprintf’  Bus Current during the fault at bus9'}
194£=(V19(9,1)-VI4(4, 1))/ Zbus(9,4);
197=(VI9(9,1)-VE4(7,1))/Zbus(9,7);
I910E(VD(9,1)-V4(10,1})/Zbus(9,10);
19141=(V9(9,1)-VI4{14,1))/Zbus(9,14);

V§10=V1-Zbus(:,10)*110,

%fprintf’  Bus Cument during the fault at bus10?
[109£=(VI10(10,1)-V110(9,1))/Zbus(10,9);
TO1LE(VEL0(10,1)-VH10(1 1, 1))/Zbus(10,11);

Vil 1=V 1-Zhus(:, 1T

%fprintl('  Bus Cument during the fault at busi1’)
1116V 1(11,1)-V111(6,1))/Zbus(11,6);
ILHLOE=(VILL(LL, 1)-VALL(10,1))/Zbus(11,10);

Vi12=V1-Zbus(;, 12}*112;

%fprintl'  Bus Current during the fault at busi2?}
11266=(VE12(12,1)-VI12(6,1))/Zbus(12,6);
112138=(VA12(12,1)-VA2(13,1))/Zbus(12,13);

Vi13=V1-Zbus(, 13)*113;

%fprintl’  Bus Current during the fault at bus13’)
II36E(VE13(13,1)-VI13{(6, )Y Zbus(13,6);

113 126=(VI13(13,1)-V13(12,1))/Zbus(13,12);
113146=(VF13(13,1)-V113(13,1))/Zbus(13,14);

VI14=V1-Zbus(:,14)*114;

%fprint{'  Bus Current during the fault al busi4")
1149f=(V{14(14,1)-V114(9,1))/Zbus(14,9),
NA136(V14(14,1)-VA14(13,1))/Zbus(14,13);

WwW={1234567391011121314%;

X1=fabs(VFI(.,1)};

X1_1=[angle(VL(;,1)));

XX I1=[W;reshape(X1,1,14);reshape(X1_1,1,14)};

X2=[abs(V2(;, L

X2 2=angle(VAG, D),

XX2=[W;reshape(X2,1,14);reshape(X2_2,1,14)];

X3=[abs(VB(, 1))



X3 _3=[angle(VAI(:,1))];
XX3=[W:reshape(X2,1,14);reshape(X3_3,1,1 4));
Xd=[abs(VfAC, 1)];

X4 4=[angle(VI1(,D);
XX1=[W;reshape(X4,1,14);reshape(X4_4,1,14)];
X5=[abs(VE5C, 1))

X5_5=[angle(VA(, D)
XXS5=[W:reshape(X5,1,14);reshape(X5_5,1,14)];
X6=[abs(V6(:, 1]

X6_6={angle(VI1(, 1)1
XX6={W:reshape(X6,1,14);reshape(X6_6,1,14)1;
X7=[abs(V(7(:,1)}];

X7_7=langle(VA(, 1]
XXT7=[W;reshape(X7,1,14);reshape(X7_7,1,14)}
X8=labs(VIE(:, 1)L

X3_8=[angle(V1(, )k
XX8=[W;reshape(X8,1,14),reshape(X8_8,1, 14));
X9=fabs(V9(:, 1)k

X9 9=langle(VIl(;, )]
XX9=[W:reshape(X9,1,14);reshape(X9_9,1,1 N;
X10=[abs(VI10¢, 1))}

X10_10=Tangle(VT1(,1)];

XX 10=[W:reshape(X10,1,14);reshape(X10_190,1 A4
X11=fabs(Vil1(;, 1))

X11_11=[angle(VI1(;,1))];

XX11=[W;reshape(X 11,1, 14);reshape(X11_11,1,14)];
X12=[abs(V112(,1))];

X12_12=[angle(VS1(, 1)));
XX12=[W;reshape(X12,1,14);reshape(X12_12,1,14)];
X13={abs(VEL3(, 1)));

X13_13=langle(VAI(, 1)}
XX13=[W;reshape(X13,1,14);reshape(X13_13,1,14)};
X14=[abs(V114(:;,1))];

X14 14=langle(VA(, 1N

XX 14=[W;reshape(X 14,1, 14);reshape(X14_14,1,14)};
H=L:1:14;



Ve =[1,0600 ;1.0450 ;1.0100 ;1.0155 ;1.0184 ;1.0700 ;1.0608 :1.0900 ;1.0556 ;1.0507 ;1.0567
;10581 ;1.0557 ;1.01;
R=[Vmm-X1 Vmm-X2 Vmm-X3 Vmm-X4 Vmm-X5 Vmm-X6 Vmm-X7 Vmm-X8 Vmm-X9 Vmm-X10
Vmm-X11 Vmm-X12 Vmm-X13 Vmm-X14];

Tdsunsanism loadflow
clc;clear;
%Line data
% Bus Bus R X 128  Traosformer data

% ol aor pu pu pu Tap sefting

linedata=[ 1 2 001938 0.05917 0.0264 1
1 5 005403 022304 0.0246 1

2 3 004699 0.19797 0.0219 i
2 4 005811 0.17632 0.0187 1
2 5 005695 0.17388 0.0170 1
3 4 006701 017103 0.0173 1
4 5 001355 0.04211 0.0064 1
4 7 0 0.20912 © 0.978
4 9 0 0.55618 0 0.969
5 6 O 0.25202 0 0932
6 11  0.09498 0.1989¢ 0 i
6 12 012291 025581 0 1
6 13 0.01655 0.13027 0O 1
7 8 0 0.17615 0 1
7 9 0 011001 0 1
9 10 0.03181 008450 O 1
9 14 0.12711 027038 O 1
0 11 008205 019207 0 1
12 13 022092 0.19988 O i

137 14 017093 034802 O IR
nl=linadata(:,l);ur--linedata(:,2);R=linedam(:,3);X-—'linedata(:,4);BSH=lincdala(:,5);
TS=linedata(:,6);nbr=1ength(nl);nbus=max(max(nl),max(nr));

Z.= R +J*X; y= ones(nbr, 1)./Z;  %branch admittance
forn= J:nbr

if TS(n) <=0



TS(n)=1;
end
Ybus=zeros(nbus,nbus); % initialize Ybus to zero
9% formation of the off diagonal elements
for k=1:nbr;
Ybus(nl(k),ne(k))=Y bus(nl(k),nr(k))-y(H TS(K);
Ybus(nr(k),nl(k))=Y bus(nl(k),nr{k));
end
end
9 formation of the diagonal element
for n=1:nbus
for k=1:nbr
if nl(k)=m
Ybus(p,n} = Yhus(n, Ay KTS(Y*2) + BSH(K)*;
elseifl nr{kj=n
Ybus(n,n) = Ybus(n,n)Hy(k) +BSH(K)*;
else, end
end
end
Yous(9,9)=Ybus(9,9)+0.19%;
Yhbus; Zbus=inv(¥bus); Yb=abs(Ybus); Ang=angle(Ybus); real(Ybus); imag(¥ bus);
Greal(Ybus); B=imag(Ybus);basemva=100; accuracy=0.001; accel=1.8; maxiter=100;
% Initial bus voltages and scheduled bus power
% Voltage Demand Generation QG limits Injection

%bus type p.u|V] deg pu.PD pu.QD puPG puQG min max Mvar

busdata=[
1 1t L06 00 000 000 0.00 0.00 0.0 0.0 0 %NPO-CC
2 2 1045 0.0 2170 127 40.0 0.00 999 699 O %CLBH
3 2 101 00 94.2 19.0 0.00 0.00 999 999 0 %NPH
4 0 1.00 00 47.8 3.90 0.00 0.00 0.0 00 0 %SRDH
5 0 100 00 7.60 180 0.00 0.00 0.0 0.0 0 %PMNH
6 2 L07 0.0 112 7.50 0.00 0.00 999 99¢ 0
7 0 Lo 00 0.00 0.00 0.00 0.00 00 00 O
$ 2 109 0.0 0.00 0.00 0.00 0.00 0999 999 0
9 0 10 00 295 166 0.00 0.00 0.0 00 0
10 0 1.0 00 900 5.80 0.00 0.00 0.0 00 0



el

1m0 1o 00 3150 180 0.00 0.00 0.0
12 0 1.0 00 6.10  1.60 0.00 0.00 0.0
3 0 10 00 135 580 0.00 0.00 0.0
14 0 10 00 149 5.60 0.00 0.00 0.0

ng=0; Vm=0; delta=0; yload=0; deltad=0; nbus = length{busdata(;, 1)},
bl=busdata(;,!);

for k=1:nbus

n=busdata(k,1);

kb{n)=busdata(k,2); Vm(n)=busdata(k,3); della(n)=busdata(k, 4);

Pd(n)=busdata(k,5); Qd(n)=busdata(k,6); Pg(n)}=busdata(k,7); Qg(n) = busdata(k,8);

Qmin(n)=busdata(k, 9); Omax(n)=busdatalk, 10);

Qsh(n)=busdata(k, 11);
iFVm(n) <=0 Vm(n) = 1.0; V{n} =1+ j*0;
else delta(n) = pi/180*deita(n);
V(o) = Vm{n)*(cos(delta(n)) + j*sin(delta(n)));
P(n)=(Pg(n)-Pd(n))/bascmva;
Q(n)=(Qg(n)-Qd(n)+ Qsh(n)¥basemva;
S(n) =P(n) + j*Qln);
end
end
for k=1:mbus

if kb{k) = 1, ns = ns+1; else, end

if kb{k) = 2 ng = ng+1{; else, end

ngs(k) = ng; nss(k} = ns;

end

Ym=abs(Y bus); { = angle(Y bus);

m=2*nbus-ng-2*ns;

maxerror = 1; converge=1;

iter=0;

% Start of iterations

clearA DC J DX

while maxerror >= accuracy & iler <= maxiter % Test for max. power mismatch

fori=L:m

for k=1:m

A(iK)=0; %!nitializing Jacobian matrix

end, end

0.0
0.0
0.0
0.0

0 %LS

0 %SR2

0 %TTK

0 %NPO2[ns=0;



jter =iter+l;
for n=1:nbus
nn=n-nss(n); Im=nbus+n-ngs{n)-nss(n)-ns; J1 1=0; J22=0; J33=0; J44=0;
for i=1:nbr
it nl) =n o) =n
it nl(i) = n, 1=ns(i); end
if nr(i) == n, 1= nl(i); end
Nni=ni+ Vm(n)'Vm(l)“Ym(n,l)*sin(t(u,l)- delta(n) + delta(D));
J33=133+ Vm(u)"‘Vm(l)‘Ym(n,l)'cos(l(n,l)— dellaln) + delta());
if kb(n)=1
J22=122+ V{)*Ym(n,D*cos(i(n,i)- delta(n) + delta(D);
T44=J44+ Vm(l)"Ym(n.l)*sin(l(n,l)- delta(n) + delta(D));
else, end
ifkbm) —= | & kb)) =1
ik = nbus+i-ngs()-nss({)-ns;
1 =1 -nss(l);
94, off diagonalelements of J1
Alnn, 1Y) =-Vm(n)‘Vm(l)‘Ym(n,l)“sin(t(n,l)— delta(n) + delta(D);
ifkb() =0 % off diagonal elements of J2
Alnn, 1k) =Vm{a)*Ym(n,)*cos(t(n,0- delta(n) + delta());end
ifkb{n) — 0 % off diagonal elements of 13
A(lm, 1) =Vm(n)‘Vm(|)"‘Ym(n,l)*cos(l(n,l)— delta(n)yrdeita(l)); end
ifkb(n) == 0 & kb{) =0 % off diagonal elcments of 4
A(lm, 1k} =—Vm(n)‘Ym(n,l)“sin(l(n,l)— delta(n) + delta(D));end
¢lse end
else , end
end
Pk = Vm(n)"Z‘Ym(n,n)*cos(t(n ,N+I33;
Qk= —Vm(n)“l‘Ym(p.n)"sin(l(n,n))—] 11;
if kb(n) = 1 P(o}=Pk; Qn)=Qk;end % Swing bus P
it kb(n) = 2 Qm)=Qk;

if Qmax{n) ~=0

Qg = Q(n)*basemva + Qu(n) - Qsh(r);

ifiter <=7 % Between the 2th & 6th iterations
ifiter>2 94, the Mvar of generator buses are

ifQgc <Qmin(n), % tested. If not within limifs vm(n)



Vm(n) = Vm(n) + 0.01; 94 is changed in steps of 001 puto
elseif Qge > Qmax(n), % bring the generator Mvar within
Vm(n) = Vmp) - 0.01;end % the specified limits.

else, end

else,end

clse,end

end

ifkb(n) ~= 1

A(nn,nn) = J11; %diagonal elements of I

DC(nn) = P(n)-Pl;

end

ifkb(n)=—10

A(nn,tm) = Z‘Vm(n)‘Ym(mn)'cos(t(n,n)}i-l?l; %%diagonal elements of 32

A(lm,nn)= J33; %diagonal elemenis of I3

Allm, ) =—')."‘Vm(n)'Ym(n,n)*sin(t(n,n))—JM; o, diagonal of elements of J4

DC(tm) = An)-Qk;

end

end

DX=A\DC

for n=1:nbus

nn=n-nss(n);

Im=nbus+n-ngs(n)-nss(n)-ns;

ifkb(n) ~—= |

delta(n) = delta(n)+DX(nn);

end

it kb(n) =0

Vm(n)=Vm(n)DX(Im);

end

end

Vm; delta;

maxerror=max(abs(PC));

if iler = maxiter & maxerror > accuracy

fprintf{("\nWARNING: Tierative solution did not converged after )
fprinti(%g’, iter), fprintf’ iterations.\n\n’)

fprintf{(‘Press Enter to terminate the iterations and print the results \n)



converge = 0; pause, else, end

end

if converge — 1

tech= ([TERATIVE SOLUTION DID NOT CONVERGEY; else,
tech=(Power Flow Solution by Newton-Raphson Method');

end

Tablel=[bl"; Vm ;dettal;

disp("--voltage from loadflow--)

disp(’ %
disp(nBUS V(pu) deltalV| )

disp(’ %
fprintf('%2.0f %2.4f 9;2.4f \n',Tablel)
disp(’ gi

Tﬂ:iun‘mimiﬂsunmnnﬁumunzi]mf‘fuﬂanﬁ

Tosunaadand 1
clear; ¢lg; loadflow; symfault;
fprintf('Unbalance fault) ; ZE0; Zbus0=Zbus; Thus1=Zbus; Zbus2=Zbus;
a=cos(120*pi/180)+] *5in(120*pi/180);
A={1 1 I;] a"2a;l a ar2];
9% single line to ground faull at bus 8 phase
% fprintf’single line to ground fault at bus 8 phase’)
I1_0["—‘1.0!(Zbusi(1,1)+Zbu32(l,1)+ZbusO(l,l)+3"‘Zl);
Bi=[t_OLIL_OLI1_0fl;
%fprintf{'the fault current is)
la=abs(3*[1_0f);
%symmetrical components of bus voltage during fault
Vlf=[0-ZbusO(l.1)“'[l_Of;V(l,l)-Zbusl(l,l)*ll_Of;(}-ZbusZ(l,l)“[l_(li]',
V2f=[0-ZbusO(2,l)"ll__()f;V(2,l)-Zbus1(2,l)'lS_Of;O-Zbus2(2,l)‘Il_Oﬂ;
V3f=[0-ZbusO(3,l)'Il_Of;V(3,l)-Zbus 1(3,l)'[8_0[';0—Zbu52(3,l)'ll_Of];
V4f=10-Zbus0(4,1)*1 1_0f:V(4,1)-Zbusl (4,1)*18_0F0-Zbus2(4, 1)*11_0f3;
V5f=[0—Zbus()(5,l)"ll_01‘.V(5,l)—Zbusl(S,l)*]S_Of;O-ZbusZ(S,l)‘]l__()ﬂ;



V6£=[0-Zbus0(6,1)*T1_0f;V(6, 1)-Zbus1(6,1)*18_0F:0-Zbus2(6,1)*11_0f];
V7§=[0-Zbus0(7,1)*11_0£V(7,1)-Zbus] (7,1)*18_01£:0-Zbus2(7,1)*13_01];
V8£=[0-Zbus0(8,1}*11_Of;V(8, 1)—Zbus1(8,1)“[8_01?;0-21)\132(8, 1y*11_0f1;
V9f=[0-Zbu50(9,1)“Il__0[;V(9,1)—Zbus1(9,1)‘[8_0f;0-Zhus2(9, 1y*11_0dl;
V106=[0-Zbus0(10,1)*11_0LV(10, 1)-Zbus1(10, 1)*11_0£:0-Zbus2(10,1)*1 1_011;
V11=[0-ZbusO(11,1)*11_Of:V(11, D-Zbus!(11, 1)*11_0r:0-Zbus2(11, 1)*11_0f];
V12f=[0-2.bus(l(l2,l)'Il_OﬂV(l2,l)—Zbusl(l2, 1)*11_OL0-Zbus2(12, 1y*11_0of};
V13£=[0-Zbus0{13,1)*] 1_0FV(13,1)-Zbusi(} 3,1)*11_0R0-Zbus2(] 3,1)*11_0f};
V14£={0-Zbus0(14,1)*11_0£V(14,1)-Zbus 1(14,1)*I1_0£0-Zbus2(14, *11_0f];

VIF=A¥VIf VIF=A*VIi VIF=A*VM VAF=A*VAL }V5F=A*V5 LV6F=A*VOIL,VIF=A*VTL,
VEF=A*V&{ 'VOF=A*VO:VI0F=A*VI0LV1 IF=A*VIIEVI2ZF=A*VI2{ VI3F=AMVIILY 4F=A*V14f,

fprintfotn  TYPE OF FAULT CURRENT FAULT  relay trip breaker at Bus ')
fprintf\nin'n LINETO GROUND %51 £ \n\n\n ‘,Ja)

H=1:1:14;

Xa=[ abs(V LF(1,1));abs(V2E(l, 1));abs(V3F(1, 1));abs(VAF(l, 1));abs(VSE(1, 1));abs(V6F(L,1))
abs(V7F(1,1));abs(VEF(l, 1)):2bs(VOF(1,1));abs(V10F(1, D):abs(VLIF(1,1))abs(V 12F(1,1))
abs(V13E(1,1));abs(V 14F (] AN

Xb=[ abs(VIF(2,1));abs(V2F(2, 1));abs(V3£(2,1));abs(VAF(2, 1));abs(VSF(2, )abe(VEF(2,1))

abs(VTF(2,1));abs(VBF(2, 1));abs(VIF(2, 1));abs(VLIOF(2, D):abs(V11F(2,1));abs(V12F(2, 1)
abs(V13F(2,1));abs(V 14F(2,1))];

Xe=[ abs(V LF(3,1));abs(V2F(3,1));abs(VIF(3, 1));abs(V4F(3,1));abs(V5F(3,1));abs(VGF 3,1)) abs(V7F
(3,1);abs(V8F(3,1));abs(VIF(3,1)); abs(V1 OF(3,1));abs(V11F(3,1));abs(V12F(3,1))
abs(V13F(3,1)); abs(V14F(3,1))];

plot(H, Xa,H,Xb, H,Xc,H, V1)

fitle("Vollage in Bus)

xlabel('bus)

ylabelCvoltage (p.u))

text(1.5,1.05, Voltage from load flow’)

text(6,0.1,'Voltage of Zero sequence’)

text(6,0.9,'Voltage of positive and negative sequence’)
p=IW;reshape(Xa, ,14);reshape(Xb, 1,1 4):reshape(Xc,1,14]

disp(—Voltage from fault—"Y,
disp(' %
displ BUS V{pu Vipw Vipw %

disp(’ Zero  negalive positive )



disp(* sequence equence  sequence ')

disp(~- %
frintll %200 %241 %241  %2Af\iwn'p);
disp(" 4N
Tsunsnyaen 2

clear; cle; loadflow; symfault;
fprintf{'Unbalance fault’) ; Zf=0; Zbus0=Zbus; Zbus1=Zbus; Zbus2=7hus;
a=cos(120*pi/180)+j*sin(120*pi/180);
A=[i I L;] a*2al a a2];
% single line o ground fault at bus 8 phase
%fprintf'single line to ground fault at bus 8 phase’)
12_0f=1.0/(Zbus}(2,2+Zbus2(2,2+Zbus0(2,2}+3*Zf);
B2={12_0f:12 012 _0f;
Y% fprintf{'the fault cumrent is’)
la=abs(3*12_01);
%symmetrical components of bus vollage during fault
V1=[0-Zbus0{1,2)*12_O£V(1,1)-Zbus1(1,2)*12_0F;0-Zbus2(1,2)*12_0f};
V2£=[0-Zbus0(2,2)*12_0L:V(2,1)-Zbus(2,)*12_0£0-Zbus2(2,2)*12_06;
V3E={0-Zbus0(3,2)*12_0£:V(3,1)-Zbus1(3,2)*12_0f;0-Zbus2(3,2)*12_0f];
VA£=[0-Zbus0(4,2)*12_0f:V(4,1)-Zbus1(4,2)*12_0f;0-Zbus2(4,2)*12_0i];
V5£=[0-Zbus0(5,2)*12_0F:V(5,1)-Zbus1(5,2)*12_0£0-Zbus2(5,2)*12_0f};
V6E=[0-Zbus0(6,2)*12_0£:V(6,1)-Zbus1(6,2)*12_0f;0-Zbus2(6,2)*12_0f];
V7E=[0-Zbus0(7,2)*12_0L:V(7,1)-Zbus1(7,2)*12_0£,0-Zbus2(7,2)*12_0f};
VBE=[0-Zbus0(8,2)*12_0FV(8,1)-Zbus1(8,2)*12_0F,0-Zbus2(8,2)*12_0f];
VOL=[0-Zbus0(9,2)*12_0LV(9,1)-Zbus1{9,2)*12_0T;0-Zbus2(9,2)*12_01};
V10£=[0-Zbus0{10,2)*12_0£;V(10,1)-Zbus1(10,2)*12_OL;0-Zbus2(10,2)*12_01};
VI1£=[0-Zbus0(11,2)*12_0£V(11,1)-Zbus1(11,2)*12_0F0-Zbus2(11,2)*12_0f];
VI126=]0-Zbus0(12,2)12_0£V(12,1)-Zbus1{12,2)*12_0f;0-Zbus2(12,2)*12_0f};
VI13£[0-Zbus0{13,2)*12_0f;V(13,1)-Zbus1(13,2)*12_0£;,0-Zbus2(13,2)*12_0f];
V14£=[0-Zbus0(14,2)*12_0£:V(14,1)-Zbus1(14,2)*12_0f,0-Zbus2(14,2)*12_01};
VIF=AMVIL VIF=APV2L VIF=A*V3{:VAF=A* VAL ;VSF=A*V5( V6F=A*VEEVTF=A*VTT;
VBF=A*VSf ;VOF=A*VIf:V |0F=A*VI10LV I IF=A*VII£VI2ZF=A*VI2f SVISF=AYVI3LVI4AP=A*V14f,
fprintf(\o\n ~ TYPEOFFAULT  CURRENT FAULT  relay trip breaker at Bus ‘)
fprintf"\o\n\n ~ LINE TO GROUND  %5f 8 \n\nwn ‘Ja)
H=1:1:14;



Xa={ abs(V 1F(1,1)):abs(V2F(1,1));abs(V3F(1,1));abs(V4F(1,1));abs(V: 5F(1,1));abs(VEF(1,1))
abs(V7F(1,1));abs(V8F(1,1));abs(VIF(1,1));abs(V10F(1,1));abs(V 1 1F(1,1));abs(V12F(1, 1))
abs(V 13F(1,1));abs(V14F(1,10];

Xb=[ abs(V1F(2,1));abs(V2E(2,1));abs(V3F(2,1));abs{VAF(2,1));abs(V5F(2, 1));abs(VEF(2,1))
abs(VTE(2, 1));abs(V8E(2,1));abs{VIF(2, 1));abs(V LOF(2,1));abs(V [ IF(2, 1));abs(V 12F(2,1))
abs(V13F(2,1));abs(V14F(2,1))];

Xe=[ abs(VIF(3,1));abs(V2F(3,1));abs(V3F(3,1));abs(V4F(3,1));abs(V5F(3,1));abs(V6F(3,1)); abs(VTF

(3,1);abs(VBF(3,1)):abs(VOF(3,1)); abs(V10F(3,1));abs(V11F(3,1));abs(V12F(3,1))

abs(V13F(3,1)); abs(V14F(3,1))];

plot(H,Xa,H,Xb,H,X¢,H, V()

title("Voliage in Bus®)

xlabel('bus’)

ylabel('voltage (p.u))

text{1.5,1.05, Voltage from load flow’)

text(6,0.1,'Voitage of Zero sequence’)

1ex1(6,0.9,'Voliage of positive and negative sequence’)
p=IW;eshape(Xa,1,14);reshape(Xb, 1, 14);reshape(Xc, 1,14)]

disp('-Voltage from fauli—)

disp(" JA

disp(' BUS V(pu) Vi) V() %

disp(' Zere  negative  positive 7,

disp(" sequence equence - sequence
disp(" %
forintf' %2.0f %2.4f %2.4f  %2.4f\n\n'p);
disp(" )
Tilsupanvaen 3

clear; cle; loadflow; symfaul(;
fprintf{'Unbalance fault’) ; ZF=0; ZbusO=Zbus; Zbusl=Zbus; Zbus2=Zbus;
a=cos(120*pi/180)+j*sin{120*pi/130);

A=l 1 151 a*2a;]1 a a*2];

% single line to ground Faulf at bus 8 phase

%fprin{{'single line to ground favlt at bus § phase’)

I3_0f=1.0/(Zbus1(3,3+Zbus2(3,3+Zbus0(3,313*Z1);

B3=[13_0£:13 0£13_0fJ;

%fprintf{'the fauft curent is')



Ta=abs(3*18_05);

%symmetrical compHnents of bus voltage during fault
Vl['=[0-ZbusO(l,3)"I3_0f;V(l.1)-Zbusl(l,3)*[3_0f;0—2bu32(1,3)"[3_0[];
V21=[0-Zbus0(2,3)*B3_0£;V(2,1)-Zbus 1(2,3)*13_0£.0-Zbus2(2,3)*13_01];
V3{=[0-Zbus0(3,3)*13_OLV(3,1)-Zbus1(3,3)*13_0r,0-Zbus2(3,3)*13_0f);
VAL=[0-Zbus0(4,3)*13_0fV(4,[)-Zbus 1(4,3)*13_01:0-Zbus2(4,3*13_01];
VSl"—'[O-ZbusU(5,3)‘l3_OI‘,V(5,l)-Zbusl(5,3)"I3_0f',0-Zbu52(5,3)‘13__0ﬂ;
V6£=[0-Zbus0(6,3)*13_0£:V(6,1)-Zbus1(6,3)*13_0£,0-Zbus2(6,3)*13_01];
V7=[0-Zbus0(7,3)*13_OEV(T, 1)-Zbus1(7,3)*[3_0C0-Zbus2(7,3)*13_01];
VI=[0-Zbus0(8,3)*13_OLV(8,1)-Zbus 1(8,3)*13_0£0-Zbus2(8,3)*13_01};
VO£=[0-Zbus0{9,3)*13 ORV(9,1)-Zbus1(9,3)%13_0£:0-Zbus2(9,3)*13_0f};
V10£=[0-Zbus0(10,3)*13_0£:V(10,1)-Zbus1(10,3)*13_0£:0-Zbus2(10,3)*13_0f];
V11E=[0-Zbus0(11,3)*13_0EV(11,1)-Zbusi(} 1,3)*13_0£0-Zbus2(11,3)*13_0f];
V12£={0-Zbus0(12,3)*13_O£:V(12,1)-Zbus1(12,3)*13_050-Zbus2(12,3)*13_0f};
V13£=[0-Zbus0(13,3)*13_0£;V(13,1)-Zbus 1(13,3)*13_05:0-Zbus2(13,3)*13_01];
V14£=[0-Zbus0(14,3)*13_OLV(14,1)-Zbus((14,3)*13_0L0-Zbus2(14,3)*13_01];

VIF=A*VI1{ VIF=A*V2L VIF=A*VILVAF=AYVAL VSF=A*VSEVEF=A*VELVIF=A*VTL,
VBF=A*VSf :VOF=A*VIf;VI0F=A*V10f;VIIF=A*V| 1EV12F=A*Vi2f ;VI3F=A*VI3LVI4F=A*VI4f;
forintfvin~ TYPEOFFAULT ~ CURRENT FAULT  retay trip breaker at Bus *)

fprint("n\n\n.  LINE TC GROUND %51 8§ \n\o\n ‘Ia)

H=1:1:14;

Xa=[ abs(V1F(1,1));abs(V2F(1,1));abs(VIF(1, l));abs(V4F(l, 1));:abs(V5F(1,1));abs(V6F(1,1))
abs(VTF(1,1));abs(V8R(1,1));abs(VIF(1,1));abs(V 10F(1,1);abs(VIIF(1,1));abs(V 12F(1,1))
abs(V13F(1,1));abs(V14F(1,1))];

Xb=[ abs(V1F(2,1));abs(V2F(2, [));abs(VIF(2, 1));abs(VAF(2, 1));abs(VSF(2,1));abs(V6F(2,1))
abs(V7F(2,1)):abs(V8F(2, 1));abs(VOF(2,1));abs(V IOF(2, 1));abs(V11F(2,1));abs(V12F(2,1))
abs(V 13F(2,1)):abs(V 14F(2, 1))}

Xe=[ abs(V1F(3,1));abs(V2F(3,1));abs(V3F(3,1));abs(V4F(3, 1));abs(V SF(3,1)):abs(V6F(3,1)); abs(VTF

(3,1);abs(V8F(3,1));abs(VIF(3,1)); abs(V10E(3,1));:abs(V11F(3,1));abs(V12F(3,1))

abs(V13F(3,1)); abs(V14F(3,1)];

plot{H, Xa,H, Xb,H,Xc,H, V()

title(*Voltage in Bus')

xlabel('bus’)

ylabel(voltage {p.u))
text{1.5,1.05,'Voltage from load flow’)
text(6,0.1,'Voitage of Zero sequence’)



text(6,0.9,Voltage of positive and negative sequence')
p=[W;reshape(Xa,1,14);reshape(Xb,1,14);reshape(Xc,1,14)]
disp{—Vollage from fault——";
disp(' 1
disp BUS V(pu) Vipu) Vipw

disp(' Zero  negative posilive )

disp(’ sequence equence  sequence ');
disp(' )
fprntff’ %2.0f %2.4f %24f  %2.4(\n\n'p);
disp(" %
Tlsunawaudi 4

clear; clc; loadflow; symfault;

fprintf{'Unbalance fault) ; Zf=0; Zbus0=Zbus; Zbus1=Zbus; Zbus2=7bus;
a=cos(120*py/180)+j*sin(120%pi/ 180);
A=[L 1 1;l a*2al a a*2];
% single line to ground fault at bus 8 phase
%fprintf{'single line to ground fault at bus & phase?)
14_0£=1.0/(Zbus 1{4,4)+ Zbus2{4,4)+7bus0(4,4)+3*Zf);
B4={14_0f14_0L14 0f];
%pontf'the fault current is')
Ta=abs(3*14_01);
%symmetrical components of bus voltage during fault
VI1£=[0-Zbus0{1,4)*14_0£:V(},1)-Zbusi(1,4)*14_OLQ-Zbus2(1,4)*14 0f];
V2F=[0-Zbus0(2,4)*14_0£:V(2,1)-Zbus1{2,4)*14_0f.0-Zbus2(2,4)*14_01];
VA=[0-Zbus0(3,4)*14_0%:V(3,1)-Zbus 1(3,4)*14_01,0-Zbus2(3,4)*14_01];
VAL=[0-Zbus{4,4)*14_0L:V(4,1)-Zbus1(4,4)*[4_OL3-Zbus2(4,4)*14_0f];
V51=}0-Zbus0(5,4)*14_0£:V(5,1)-Zbus1(5,4)*14_0f.0-Zbus2(5,4)*14_01];
V6£=[0-Zbus0(6,4)*14_0£V(6,1)-Zbus1{6,4)*14_0f,0-Zbus2(6,4)*14_0f];
V71=[0-Zbus0(7,4)*14_0£:V(7,1)-Zbus1(7,4)*14_0f,0-Zbus2(7,4)*14_01];
V3E=[0-Zbus0(8,4)*14_0fV(8,1)-Zbus1(8,4)*14_0f,0-Zbus2(8,47)*14_0f];
VI£=[0-Zbus0(9,4)*14_0LV(9,1)-Zbus1(9,4)*14_0f;0-Zbus2(9,4)*11_01];
VI0£=[0-Zbus0(10,4)*14_0£V10,1)-Zbus1(10,4)*14_0£:0-Zbus2(10,4)*14_0f];
VI1E=[0-Zbus0(11,4)%14_0Fv(11,1)-Zbus1(11,4)*14_050-Zbus2(11,4)*14_0f];
VI12£=[0-Zbus6(12,4)*14_0f:v(12,1)-Zbus1(12,4)*14_0£:0-Zbus2(12,4)*14_0f);
Vi3=[0-Zbus0(13,4)*14_OL:V(13,1)-Zbus1(13,4)*14_0£0-Zbus2(13,4)*T4_0f];



V14£={0-Zbus0(14,4)*14_0f:V(14,1)-Zbus1(14,4)*14_0F;0-Zbus2(14,4)*14_0f};
VIF=A*VIE V2ZF=A*V2f, VIF=AYV3IEVAF=A*V4f VSF=A*V5f;V6F=A*V6,VIF=A*VTf,
V8F=A*VS( :VIF=A*VOLVIOF=A*VI0LV1IF=A*VILLVI2F=A*VI2( VIIF=AVIIEVIAF=AYVIS;
fprintf’s\n ~ TYPE OF FAULT CURRENTFAULT  relay trip breaker at Bus )

fprintf"n\n\n  LINE TO GROUND %51 8 \n\nn ‘la)

H=1:1:14;

Xa=[ abs(V1F(),1));abs(V2F(1,1));abs(V3F(1,1));abs(V4F(1,1));abs(V5F(1,1));abs(V6F(1,1)}
abs(VTF(1,1));abs(V8R(1, 1));:abs(VIF(1,1));abs(V 1 0F(1, 1));abs(V11F(1,1));abs(V12F(1, 1))
abs(V 13F(1,1));abs(V14F(L, 1)];

Xb=[ abs(V1F(2,1));abs(V2F(2,1));abs(V3F(2,1));abs(VAF(2,1));abs(VSF(2,1));abs(VEF(2,1))
abs(VTE(2, 1));abs(VRF(2, 1));abs(VOF(2, 1));abs(V 10F(2,1));abs(V L1F(2, 1));abs(V 12F(2, 1))
abs(V13F(2,1));abs(V14F (2,11}

Xe=] abs(VIF(3,1));abs(V2ZF(3,1));abs(V3F(3,1));abs(V4F(3, 1));abs(V5F(3,1));abs(VEF(3,1));  abs(VTF

(3,1);abs(V8F(3,l));abs(V9F(3,l)); abs(VI0F(3,1));abs(V11F(3,1));abs(V12F(3,1))
abs(V13E(3,1)); abs(VI4F(3,1)];

plot(H,Xa,H,Xb,H, Xc,H, V1)

title("Voltage in Bus')

xlabel(bus’)

ylabel(*voliage (p.u))

text(1.5,1.05, Voltage from load flow’)

12x1(6,0.1, Voltage of Zero sequence’)

texi(6,0.9,'Voltage of posilive and negalive sequence)
p=IW:reshape(Xa, 1,14);reshape(Xb, 1,14);reshape(Xc, 1,14)]

disp('~Voltage from fault-—);

disp(" %

disp( BUS Vipw) Vipm} Vpu %

disp(’ Zero  negative posilive )

disp( sequence equence  scquence ');
disp(' |);
fprintl' %2.0f %24f %24F %240 \n\'p);
disp(’ %
Tsunsudheh 5

clear; cic; loadflow; symfaul;
fprintf{"Unbafance fault) ; Zf=0; Zbus0=Zbus; Zbus1=Zbus; Zbus2=Zbus,
a=cos(120*pi/180)+j*sin(120*pi/130);



A=[11 1;1 a*2a;1 a a2}

% single line to ground fault at bus § phase

%fprintf{'single line to ground fault at bus § phase”)

I5_0f=1.0/(Zbus1(5,51-Zbus2(5,5)+ Zbus0{5,5+3*Z1);

B5=[I5_06,5_0$15_01];

Yfprintf{'the faull current is’)

Ta=abs(3*15_00);

Yesymmetrical components of bus voltage during fault

VI£=[0-Zbus0(1,5)*18_0LV(1,1)-Zbus1(1,8)*18_0£;0-Zbus2(1,8)*18_0f];

V2£=[0-Zbus0(2,5)*[8_0£:V(2,1)-Zbus1(2,8)*18_0L0-Zbus2(2,8)*18_0f];

V3I=[0-Zbus0(3,5)%15_0£:V(3,1)-Zbus1(3,5)%15_0L0-Zhus2(3,5)*15 0f];

VA=[0-Zbus0(4,5)*15_0£V(4,1)-Zbus1(4,5)*15_0£,0-Zbus2(4,5)*15_0f];

V5=[0-Zbus0(5,5)*15_0£V(5,1)-Zbus1{5,5)*15_0£:0-Zbus2(5,5)*15_0f];

V61=[0-Zbus0(6,5)*15_0£:V(6,1)-Zbus1{6,5)*I5_OL0-Zbus2(6,5)*15_01l,

VTE=[0-Zbus0(7,5)*15_0LV(7,1)-Zbus1(7,5)*I5_0L;0-Zbus2(7,5)*15_01];

V8£={0-Zbus0(8,5)*15_0LV(8,1)-Zbus1(8,5)*I5_01;0-Zbus2(8,5)*15_01};

VI=[0-Zbus0(9,5)*15_0LV(9,1)-Zbus1(9,5)*15_0L0-Zbus2(9,5)*15_0f};

V10£=[0-Zbus0(10,5)*15_0FV(10,1)-Zbus 1(10,6)*15_0f;0-Zbus2(10,5)*15_0f];

V11£=[0-Zbus0({11,5)*I5_0LV(LL,1)-Zbusi(11,5)°I5_0£.0-Zbus2(11,5)*15_0f);

VI12=[0-Zbus0(12,5)*I5_0£:V(12,1)-Zbus1(12,5)*5_0£0-Zbus2(12,5)*15_01;

V13=[0-Zbus0(13,5)*15_0£V(13,1)-Zbus1{13,4)*15_0L,0-Zbus2(i3,5)*15_0f};

V14£=[0-Zbus({14,5)*15_0£:¥(14,1)-Zbus1{14,5)*15_0L.0-Zbus2(14,5)*15_01];
VIF=A*VIf; V2F=A*V2f ViF=AYWALVAF=AYV4f ;VSFE=A*V5LVOF=A*V6f,VIF=A*VTS;

VEF=A*VE[ ;VIF=A*VIEVIOF=A*VIOLV 1 IF=A*VIIEVI2F=A*VI2f VI3F=A*VI3£VI14F=A*V14f,
fpintn\n  TYPE OF FAULT CURRENT FAULT  relay trip breaker at Bus ')
fprimf(n\n\n  LINE TO GROUND  %5f 8 \n\o\n fa)

H=1:1:14;

Xa=[ abs(V1F(1,1)):abs(V2ZF(1,1));abs(VIF(1,1});abs(V4F(1,1));abs(VSF(1,1}),2bs(V6F(1,1))
abs(V7F(1,1));abs{VRF(1,1));abs(VIF(}, 1));abs(V10F(1,1));abs(V1 EF(1,1));abs(V12F(1,1))
abs(V13F(L,1));abs(V14F(1,1))];

Xb={ abs(VIF(2,1));abs(V2F(2,1));abs(V3IF(2,1));abs(VAF(2,1));abs(V5F(2,1));abs(V6F(2,1))
abs(V7F(2,1));abs(VBF(2,1)):abs(VIF(2,1));:abs(V10F(2, 1));abs(V 1 1F(2,1));abs(V 125 (2,1))
abs{V13F(2,1));abs(V14F(2,1))];

Xe=| abs(VIF(3,1));abs(V2F(3,1));abs(V3F(3,1));abs{V4F(3,1));abs(VSF(3,1));abs(V6F(3,1));  abs(V7F

(3,1);abs(V8F(3,1));abs(VOF(3,1)); abs(V10F(3,1));abs(V11F(3,1));abs(V12F(3,1))

abs(V13F(3,1)); abs(V14F(3,1)];



plot(H,Xa,H,Xb,|,Xc,H,Vt)
title('Voltage in Bus')
xlabel("bus’)
ylabel(*voltage (p.u))
text(1.5,1.05, Voitage (rom load flow")
text(6,0.1, Voltage of Zero sequence’)
text(6,0.9,'Voltage of positive and negative sequence')
p=[W;reshape(Xa, 1,14);reshape(Xb,1,14);reshape(Xc,1,14)]
disp(—Voltage from fault—);
disp(* %
disp( BUS V(u) Vipu) Vo) %

disp(' Zero  nepative  positive )

disp{' sequence cquence  sequence ');
disp(* Y%
fprintl{’ %2.0f %240 %24f  %2.4f\n\n'p};
disp(* %
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clear; clc; loadflow; symfault;

fprintfi{'Unbalance fault’) ; Z6=0; Zbus0=Zbus; Zbusi=Zbus; Zbus2=Zbus;
a=cos(120*pi/180)+j *sin(120*pi/180);
A=l 1 L;1 a*2a;1 a a*2}
% single line to ground faull at bus 8 phase
%fprintf{'single line to ground fault at bus 8 phase)
16_0f=1.0/(Zbus1(6,6)+Zbus2(6,6)+ Zbus{6,6H3*Zf),
B6=[I6_0f:16_0£16_0£);
%f{printf{‘the faukt current is)
Ia=abs(3*16_0f);
%symmetrical componenis of bus vollage doring fault
V1£=[0-2bus0(1,6)*16_0FV(1,1)-Zbus1(1,5)*15_OF0-Zbus2(1,5)*15_01];
V2I=[0-Zbus((2,6)*16_0F:V(2,1)-Zbus1(2,5)*15_0f,0-Zbus2(2,5)*I5_0f];
V3£=[0-Zbus{3,6)*16_0FV(3,1)-Zbus1(3,5)*15_0f,0-Zbus2(3,5)*15_0f];
VA=[0-Zbus0(4,6)*16_0LV(4,1)-Zbus1(4,5)*15_0f.0-Zbus2(4,5)*15_0f};
V51=10-Zbus0(5,6)*16_0L:V(5,1)-Zbus 1(5,5)*[5_01£:0-Zbus2(5,5)*15_01};
V6£=[0-Zbus0(6,6)*16_0FV(6,1)-Zbus1(6,6)*15_0£;0-Zbus2(6,5)*15_0f];
V7E=10-Zbus0(7,6)*16_0L:V(7,1)-Zbus 1(7,6)*I5_0F0-Zbus2(7,5)*15_01);



VE8=[0-Zbus({8,6)*16_0f:V(8,1)-Zbus1(8,6)*15_OF.0-Zbus2(8,5)*15_04;
VIf=[0-Zbus0(9,6)*16_0£,V(9,1)-Zbus1(9,6)*15_0£,0-Zbus2(9,5)*15_0f];
V10£=[0-Zbus0(10,6)*16_0LV(10,1)-Zbus 1(10,6)*15_01:0-Zbus2(10,5)*I5_0f];
V1L1=[0-Zbus0(11,6)*16_0L:V{11,1)-Zbusi(11,6)*15_0f:0-Zbus2(11,5)*I5_01];

VI12{=[0-Zbus0(12,6)*16_0£;V{(12,1)-Zbus1(12,6)*15_0L,0-Zbus2(12,5)*15_0f};

VI13£=[0-Zbus0(13,6)*16_0f;V{13,1}-Zbus1(13,6)*15_0£:0-Zbus2(13,5*15_001;

V14£=[0-Zbus0(14,8)*18_0£:v(14,1)-Zbus1{14,6)*I5_0£:0-Zbus2(14,5)*15_0f];

VIF=A*VIE, VIF=A*VII VIF=A*VILVAF=A*VA[ ;VSF=A*V5EVOF=A*VOL,VIF=A*VTI,

VBF=A*VEf ;VOF=A*VO;VIOF=A*V0EVIIF=AMVILIEVI2F=A*VI12( ;VIIF=A*VIIEVI4AF=A*V14E

fprintf(in ~ TYPE OF FAULT CURRENT FAULT  relay irip breaker al Bus )
fprintf("n\n\n  LINE TO GROUND  %5f 8 \nin\n la)

H=1:1:14;

Xa=[ abs(V1F(1,1));abs(V2F(i,1));abs(V3F(1,1));abs(V4F(1,1));abs(V5F(1,1));abs(V6F(1,1))
abs(V7E(1,1));abs(VEF(1,1));abs(VIF(1, 1));abs(V 10F(L, 1));abs(V11F(1, 1));abs(V12F(L,1))
abs(V13F(1,1));abs(V 14F(1,1)];

Xb=[ abs(VIF(2,1}),abs(V2F(2,1));abs(VIF(2,1));abs(V4E(2, 1));abs{V5F(2,1));abs(VEF(2,1))
abs{V7F(2,1));abs(VRF(2, 1));abs(VIF(2, 1)};abs(V L0F(2, 1));abs(V L IF(2,1));abs(V 12F(2,1))
abs(V 13F(2,1));abs(V 14F(2,1)};

Xe=[ abs(V1IF(3,1));abs(V2F(3,1));abs(V3IF(3, 1)):abs(V4AF(3,1));abs(VSF(3, 1));abs(V6F(3,1)); abs(VIF

(3,1);abs(V8F(3,1));abs(VIE(3,1)); abs(VLIOF(3,1));abs(V11F(3,1));abs(V12F(3,1))

abs(V13F(3,1)); abs(V14F(3,1)));

ploi(H, Xa,H,Xb,H, Xc,H,Vt)

title("'Voltage in Bus”)

xlabel('bus")

ylabel(voltage (p.u))

text(1.5,1.05, Voliage from foad flow')

text(6,0.1, Voliage of Zero sequence’)

text(6,0.9,Voltage of positive and negative sequence')

p=IW;reshape(Xa,1,14):reshape(Xb, 1,14);reshape(X¢,1,14)]

disp(*—Voltage from fault—?;
disp(" %
disp( BUS V(pu)  V(pu) V{pu) %

disp(’ Zero  negative positive 7;
disp(’ sequence equence  sequence ');
disp(* %

fprintl' %2.0f %24f %2.4f  %2.4F\n\w'p);



disp(' %
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clear; clc; loadflow; symfault;
fprintfi'Unbalance fault) ; Zf=0; Zbus0=Zbus; Zbus1=Zbus; Zbus2=Zbus;
a=cos(120*pi/180)+j*sin(120*pi/180);
A=[I I 1;1 a*2a;1 a a*2];
% single line to ground fault at bus & phase
Y%fprintf('single line to ground fault at bus 8 phase')
[7_0£=1.0/(Zbus 1(7, N +Zbus2(7,7)+Zbus0{7, N+3*Z1);
B7=[17 OLI7 0217 0fl;
Yelprint{(*he fault current is")
Ja=abs(3*17_01);
Ysymmetrical components of bus voltage during fault
V1E=[0-Zbus0(1,7)*17_0E:V(1,1)-Zbus1(1,7)*17_0f;0-Zbus2(1,7)*17_0fJ;
V2E=[0-Zbus0(2,7)*17_0EV(2,1)-Zbus1(2,7)*7_0£0-Zbus2(2,7)*17_0fJ;
V31={0-Zbus0(3,7)*17_0£;V(3,1)-Zbus 1(3,7)*17_05;0-Zbus2(3,7)*17_01J;
VA=[0-Zbus0(4,7)*17_0F:V(4,1)-Zbus1(4,7)*17_0£:0-Zbus2(4,7)*17_0f1;
V5F=[0-Zbus0(5,7)*17_0£V(5,1)-Zbus1(5,7)*17_0f,0-Zbus2(5,7)*17_0fl;
V6£=[0-Zbus0{6,7)*17_0£;V(6,1)-Zbus1(6,7)*17_0£0-Zbus2(6,7)*17_01);
V7£=[0-Zbus0(7,7)*17_0£;V(7,1)-Zbus 1(7,7)*17_0£:0-Zbus2(7,7)*17_013;
V8{=[0-Zbus0(8,7)*I17_0£;V(8,1)-Zbus1(8,7)*17_0f:0-Zbus2(8,7)*17_01];
VOI=[0-Zbus0(9,7)*17_0£:V(9,1)-Zbus1(9,7)*17_0C:0-Zbus2(3,7)*17_013;
VI10£=[0-Zbus0(10,7)*17_0f,V(10,1)-Zbus1(1,7)*I7_0F:0-Zbus2(10,7)*17_01);
V1E=[0-Zbus0(11,7)*17_0£V(11,1)-Zbusi(11,7)*17_0£0-Zbus2(11,7)*I17_0f};
VI2=[0-Zbus0(12,7)*17_0£V(12,1)-Zbus1{12,7)*17_0(;0-Zbus2(12,7)*17_0il;
V131={0-Zbus0(13,7)*17_0L;V(13,1)-Zbus1(13,7)*I7_0L0-Zbus2(13,7)*i7_0f];
V14=[0-Zbus0(14,7)*I7_0£;V(14,1)-Zbus1(14,7)*17_01:0-Zbus2(14,7)*17 _0i};

VIF=A*VIE, VIF=A*V2f, VIF=AYV3E:VAF=A*VAL [ VSF=A*VS:VOF=A*V6f:VIF=A*VIf:
VBF=A*V3I VIF=A*VI,VI0F=A*VI0fV1[F=A*VIIEVI2F=A*VI2f VI3F=A*VI3[V14F=A*V14I:
fprintf"\mn ~ TYPEOF FAULT CURRENT FAULT  relay trip breaker at Bus )

forint{n\n\n  LINE TO GROUND %51 8 \n\n\n JIa)

H=1:1:14;

Xa=[ abs(VIF(1,1));abs(V2F(1,1));abs(V3F(L, 1));abs{VAF(L,1));abs(VSF(I,1));abs(V6F(1, 1))
abs(VTF(1,1));abs(V8F(1,1)}abs(VOF(1, ));abs{V 10F(1, ));abs{V L 1F(1, 1));abs(V12F(1,1))
abs(V13F(1,1));abs(V14F(L,1))];



Xb=[ abs(V1F(2,1));abs(V2F(2,1));abs(V3F(2,1));abs(V4AF(2,1));abs(V5F(2,1));abs(V6F(2,1))
abs(VTF(2,1)):abs{V8F(2,1));abs(VOF(2,1));abs(V10F(2,1)};abs(VI IF(2,1));abs(V12F(2,1))
abs(VI3F(2,1));abs(VI4F(2,1))];

Xe=[ abs(VLIF(3,1));abs(V2F(3,1));abs(V3F(3,1));abs{ VAF(3,1));abs(V5F(3,1));abs(V6F(3,1));
(3,1):abs(V8F(3,1));abs(VIF(3,1)); abs(V 10F(3,1));abs(VEIF(3,1));abs(V [2F(3,1))
abs(V13F(3,1)); abs(V 14F(3,1))1;
ploi(H,Xa,H,Xb,H,Xc,H,Vt)

title("Voltage in Bus")

xlabel(‘bus’)

ylabel(voltage (p.u))

text(1.5,1.05, Voltage from load flow')

text{6,0.1,"Voltage of Zero sequence’)

text(6,0.9, Volage of positive and negative sequence’)
p=IW;reshape(Xa, 1,14);reshape(Xb, 1,14} reshape(Xc,1,14)]

disp{~Vollage from faul—",
disp(" ),
disp( BUS V(pw) V(puw Vipu) %

disp{' Zero  negative positive )
disp(’ sequence equence  sequence )

disp(’ %
fprintf! %2.0F %2.4f %24  %2.40\n\n',p);
disp(" )

Tolsunsusanii 8
clear; clc; loadflow; symfaull;
fprintf{*Unbalance fault) ; Z6=0; Zbus0=Zbus; Zbus1=Zbus; Zbus2=Zbus;
a=cos{120*pi/180)+j*sin{120*pi/180);
A=[l 1 1;1 a*2a;1 a a"2];
% single line to ground fault at bus 8 phase
% fprintf{'single line 1o ground fault at bus 8 phase’)
18_0f=1.0/(Zbus1(8,8)+Zbus2(8,8)+Zbus((8,8)}+3*Z);
B8=[I8_Ofi8_OLI8_0f;
%fprintf'the fauit current is?)
la=abs(3*18_0f);
Y%symmetrical components of bus voltage during fault
V1=[0-Zbus0(1,8)*18_0£V(1,1)-Zbus1{1,8)*I8_0F,0-Zbus2(1,8)*18_0f];

abs(V7F



V2£=[0-Zbus0(2,8)*18_0£:V(2,1)-Zbus1(2,8)*18_0F:0-Zbus2(2,8)*18_01J;
V3E=[0-Zbus0(3,8)*18_0LV(3,1)-Zbus!(3,8)*I8_0£;0-Zbus2(3,8)*18_0f];
V4f=[0-Zbus0(4,8)*18_0f;V(4,1)-Zbus1(4,8)*I8_0L0 -Zbus2(4,8)*18_0f];
V5(=[0-Zbus0(5,8)*18_0L:V(5,1)-Zbus1(5,8)*18_0£:0-Zbus2(5,8)*I8_0f];
V61=[0-Zbus0(6,8)*18_0£V(6,1)-Zbus1{6,8)*18_0L0-Zbus2(6,8)*18_0f];
V71=(0-Zbus0(7,8)*18_0LV(7,1)-Zbus1(7,8)*18_01;0-Zbus?2 (7.8)*18_01l;
V8[‘=[0-Zbu50(8,3)‘]3_0f;‘1(8,l)-Zbusl(3,8)"IS_OI’,O-ZbusZ(S,S)"IS_Oﬂ;
VOr=[0-Zbus0(9,8)*18_0£:V(9,1)-Zbus1(9,8)*18_0F:0-Zbus2(9,8)*18_0f];

V10£=[0-Zbus0(10,8)*18_0LV(10, 1)-Zbus1(10,8)*I8_0£0-Zbhus2(10,8)*I8_0f];
V11£=[0-Zbus0(11,8)*18_0LV(11,1)-Zbus1(l 1,8)*18 010-Zbus?2(11,8)*18_01l;
V120=[0-Zbus0{12,8)*18_O1;V(12,1)-Zbus1(12,8)*18_OL:0-Zbus2(12,8)*18_0f};

v l3l‘=[0-2bu50(13,8)"‘18_0f;V(13,l)-Zbusl(l3,8)‘18_0&0—Zbus2(13,8)"]3_01];
V14£=[0-Zbus0(14,8)*18_0f:V{(14,1)-Zbus1(14,8)*18_0f;0-Zbus2(} 4 8)*18 0f);
VIF=A*VIf; V2F=A*V2£ VIF=A*V3;VAF=A*VA{ VSP=A*VSEVOF=A*VO:VIF=A*VTL,
VEF=A*VS[ VIF=A*VILVIOF=A*V IO V1IF=A*V1 LEVI2F=A*V12(;VIIF=A*VI3GVI4F=A*V14[
fprit\w\n ~ TYPE OF FAULT  CURRENT FAULT  refay irip breaker ai Bus )

fprit{(\n\n\n ~ LINE TO GROUND ~ %S5{ § \n\n\n ‘,la)

H=1:1:14;

Xa=[ abs(V1F(1,1));abs(V2E(1,1));abs(V3F(1, ));abs(VAF(1,1));abs( VSF(3, 1));abs(VOF(1,1Y)
abs(VTF(1,1));abs(VBF(1, 1)):abs(VOF(1,1));abs(V10F(1, 1));abs(V1 LF{1,1));abs(V12F(1,1))
abs(V13F(1,1));abs(V 14F(1,1)}];

Xb=[ abs(VIF(2,1)):abs(V2F(2,1));abs{VIE(2,1));abs(VAF(2, 1));abs(VSF(2,1));abs(V6F(2, 1))
abs(VTF(2,1));abs(V8F(2,1));abs(VIF(2,1));abs(VI0F(2,1)):abs(Vi 1F(2,1));abs(VI2F(2,1))
abs(V13F(2,1));abs(V 14F(2,1))];

Xe=[ abs(VIF(3,1));abs(V2F(3,1));abs(V3F(3,1));abs(V4F(3,1));abs(VSF(3, 1));abs(VOR(3,1)); abs(V7TF
(3,1);abs(V8F(3,1));abs(VIF(3,1)); abs(V 10F(3,1));abs(V1 1F(3,1));abs(VI2F(3,1))
abs(V13F(3,1)); abs(V14F(3, 1))}

plot(H,Xa,H,Xb,H,Xc,H,Vi}

title("Vollage in Bus”

xlabel(bus)
ylabel('voltage {p.u))
text(1,5,1.05,'Voliage from load flow’)
text(6,0.1,"Voliage of Zero sequence”)
text(6,0.9, Voltage of positive and negative sequence’)
p=[W;reshape(Xa,1,14);reshape(Xb, 1,14);reshape(Xc,1,14))
disp{"~Voltage from fault—-";



disp(* Y%
disp( BUS Vipw  Vipw)  V{pu) %

disp{’ Zero  nepalive pogilive )

disp(’ sequence equence  sequence ')
disp(* %
forintfl' %2.0f %240 %2.4f  %2.4{\nwn'p);
disp(’ %
Tulsunsusaudi o

clear; clc; loadflow; symfault;

fprimf(‘Unbalance fault’) ; Z£=0; Zbus0=Zbus; Zbus 1=Zhbus; Zbus2=Zbus,
a=cos(120*pi/180)+j*sin(120*pi/180);
A=[1 1 1l a*2a;l a a™2);
% single ling (o ground fault at bus 8 phase
%fprintf('single line (o ground fault at bus 8 phase’)
19_0f=1.0/(Zbus1(9,9)+Zbus2(9,9)+Zbus0(9,9}+3*Z0);
BS=[19_0C19 _0f;I9 Off;
%fprintR'the fault current is')
la=abs(3*19_0i};
%symmetrical components of bus voltage during fault
VI1E=[0-Zbus0(1,9)*19_0f:V(1,1)-Zbus1{1,9)*19_0£,0-Zbus2(1,9)*19_0f];
V2£=[0-Zbus0(2,9)*19 0LV(2,1)-Zbus1(2,9)*19_0£0-Zbus2(2,9)*19_0f);
V3=[0-Zbus0(3,9)*19 0£:V(3,1)-Zbus1(3,9)*19_0f;0-Zbus2(3,9)*19_0f};
V4f=[0-Zbus0(4,9)*19_0£:V(4,1)-Zbus1{4,9)*19_0£0-Zbus2(4,9)*19_0f];
V5£=]0-Zbus0(5,9)*18_0£V(5,1)-Zbus1(5,9)*19_0£,0-Zbus2(5,9)*19_0f%;
V6£=[0-Zbus0(6,9)*19_OFV(6,1)-Zbus1(6,9)*19_0£,0-Zbus2(6,9)*19_01];
V7E=[0-Zbus0(7,9)*19_0L£:V(7,1)-Zbus1(7,9)*19_0£;0-Zbus2(7,9)*19_01];
V8E=[0-Zbus0(8,9)*19 OLV(8,1)-ZbusL(8,9)*19_0£0-Zbus2(8,9)*19_0f};
VOL=[0-Zbus0(9,9)*19_0£:V(9,1)-Zbus1(9,9)*19_0£,0-Zbus2(9,9)*19_01];
V10£=[0-Zbus0(10,9)*19_O£V(10,1)-Zbus1{10,9)*19_0£,0-Zbus2(10,9*19_0f];
V11£=[0-Zbus0(11,9)*19_OFV(11,1)-Zbusi(11,9)*19_0£0-Zbus2(11,9)*19_01];
V12£=[0-Zbus0(12,9)*19_0F:V(12,1)-Zbus1(12,9)*19_0£;0-Zbus2(12,9)*19_01);
V13£={0-Zbus0(13,9)*19_0L:V(13,1)-Zbus1(13,9)*19_0£0-Zbus2(13,9)*19_01;
V14£=[0-Zbus0(14,9)*19_OLV(14,1)-Zbus1(14,9)*19_0£0-Zbus2(14,9)*19_01};
VIF=A*VIf: V2F=A"V2f: V3F=A*V3[;VAF=A*V4f V5F =A*V5EVEF=A*V6VIF=A*VTL
VBF=A*VSI ;VIF=A*VIL.VIOF=A*VI0LVIIF=A*VII£VI2F=A*VI2f IVIIF=A*VIIEVIAF=AYVI14]



%line 78
17_8 012=[(V7R1,1)-V8K1,1)yZbus(7,8):(V7R2,1)-V8A2,1))/Zbus(7,8); (VIH3,1)-V8A3,1))/Zbus(7,8)];
17 8 abc= A*17_8_012 :1_fl=abs(I7_8_abc); Delta=angle(I7_8_abe);
Yoline 98
19_8_012=[(V91(1,1)-V&1(1,1))/Zbus(9,8); (VIN2,1)-VEK2,1))/Zbus(9,8);,(VI(3,1)-VE(3,1))/Zbus(9,8)1;

19 & abc= A%19 8 012;Ir1_1=abs(19_8_abc);Delta_l=angle(I9_8_abe);

fprintf\n\a ~ TYPE OF FAULT CURRENTFAULT  relay trip breaker at Bus ')

fprintfo\nin ~ LINE TO GROUND %5t 8 \n\o\n 'Ja)

H=1:1:14;

Xa=[ abs{V1E(L,1));abs(V2F(1,1));abs(V3F(1,1));abs(V4F(1,1));abs(V5F(1,1));abs(VEF(L, 1))
abs(VTF(1,)):abs(VSF(1, 1));abs(VF(L, 1));abs(V LOF(L, 1));abs(V L IF(1,1));abs(V12F(1, 1))
abs(V13F(1,1));abs(V 14F(1,1))};

Xb={ abs(VIF(2,1));:abs(V2F(2,1)):abs(V3R(2,1)};abs(V4F(2,1));,abs(V5F(2,1));abs(V6F(2,1))
abs(V7F(2,1));abs(VEF(2, 1));abs(VIF(2,1));abs(VI0F(Z, 1));abs(V11E(2, 1));abs(VI2F(2, 1))
abs{V13F(2, 1));abs(V14F(2,1))};

Xe=[ abs(VIF(3,1));abs(V2F(3,1));abs(V3F(3,1));abs{VAF(3,1));abs(V5F(3,1));abs(VOF(3, 1)) abs(V7F

(3,1);abs(V8F(3, 1));2bs(VIF(3,1)); abs(V10F(3,1));abs(V 1 1F(3,1));abs(V12F(3,1)}

abs(V13F(3,1)); abs(V14F(3,1)];

plot(H, Xa,H,Xb,H, Xc,H, Vi)

title('Voliage in Bus')
xlabel('bus')
yhabel('voliage (p.u)y)
text(1.5,1.05,'Voltage from load flow")
text(6,0.1,'Vollage of Zero sequence’)
text(6,0.9,Vollage of posilive and negalive sequence’)
p=[W;reshape(Xa, 1,14);reshape(XDb, 1, 14);reshape(Xc, 1, 14)]

disp(—Voltage from faull—');

disp(" %

disp( BUS V(pu) Vipw) V(v 9

disp(’ Zero negative  positive Y);

disp(’ sequence equence  sequence ')

disp(’ %
fprintf{’ %2.0f 9%2.4f %2.4f  %2.4f\n\n'p);

disp(' %



TWlsunvudei 10

clear; cle; loadflow; symfault;
fprint("Unbalance fault’} ; Z£=0; Zbus0=Zbus; Zbusl=Zbus, Zbus2=Zbus;
a=cos(120*pi/180)+*sin(120*pi/180);

A=l1 1 1;1 a*2a;1 a a*2];

% single ling to ground fault at bus 8 phase

%fprintf{'single line 1o ground fauli at bus § phase’)

110_0f=1.0/Zbus1(10,10)+Zbus2(10,10}+Zbus0(10, 100+3*Z1);

BO=[110_O£110 0£:110_0f];

%fprintf('the fault cument is’)

Ia=abs(3*110_0f);

%symumnelrical components of bus vollage during fault

V1£=[0-Zbus0{1,10)*[10_Of:V(L,1)-Zbus1(1,10)*I10_0f:0-Zbus2(1,10}*ILO_0il;

V2{=[0-Zbus0(2,10)*110_0f;V(2,1)-Zbus1(2,10)*110_0£:0-Zbus2(2,10)*110_0f};

V3£=[0-Zbus0(3, 10)*110_0f:V(3,1)-Zbus1(3,10)*110_01;,0-Zbus2(3,10}*110_01];

VAf=[0-Zbus0(4,10)*110_0£;V(4,1)-Zbus1(4,10)*110_0£0-Zbus2(4,10)*110_01];

V5{=[0-Zbus0(5, 10Y*I10_0£V(5,1)-Zbus1(5,10)*[10_Of:0-Zbus2(5,10)*[10_0f];

V6{=[0-Zbus0{(6,10)*I10_0£:V{6,1)-Zbus1(6,10)*L10_0(;0-Zbus2(6,10)*10_0f];

V71=[0-Zbus0(7,10)*110_0£:V(7,1)-Zbus1(7,10)*110_0£,0-Zbus2(7,10)*110_0f];

V3=[0-Zbus0(3, 10}*110_0f:V(8,1)-Zbus1(8,10)*110_0£;0-Zbus2(8,10)*110_01];

VOE=[0-Zbus0(9,10)*110_0£:V(9,1)-Zbus1(9,10)*110_0£:0-Zbus2(9,10)*110_0f;

V10£=[0-Zbus0(10,10)*110_0£V(10,1)-Zbus1(10,10)*110_0A0-Zbus2(16,10)*110_01;

V116=[0-Zbus0(11,10)*110_0£:V(11,1)-Zbus1(11,10)*[10_0L:0-Zbus2(11,10)*110_0f1;

V12£={0-Zbus0(12, 10)*110_0£:V(12,1)-Zbus 1(12,10)*[10_0L:0-Zbus2(12,10)*110_0f1;

V13£=[0-Zbus0(13,10)*110_0£:V(13,1)-Zbus {13, 10)*110_0£:0-Zbus2(13,10)*110_0f;

V14£=[0-Zbus0(14,10)*119_0£:V{(14,1)-Zbus1{14,10)*110_0£0-Zbus2(14,10y*110_0f];

VIF=A*VIf; VIF=A*V2f, VIF=A*VIEVAF=A*VAS VSF=A*VSfVOF=A*VOLVTF=AVTL,
VBF=A*VEf ;VOF=A*VOLVIIF=A*VIOLVIIF=A*VIIEVI2F=A*VI2[ VIIF=ASVIILVI4AF=A*VI14f
fprint("\in  TYPE OF FAULT CURRENT FAULT relay trip breaker ai Bus ')
fprintiimn\n  LINE TO GROUND  %5f § \nwn la)

H=1:1:14;

Xa=[ abs(V1F(1,1));abs(V2F(1,1));abs(V3F(1,1));abs(VAF(1,1));abs(VSF(1,1));abs(V6F(1,1)}
abs(V7F(1,1));abs(V8F(1,1));abs(VIF(1,1));abs(V LOF(1,1));abs{V11F(1,1)};abs(V12F(1,1))
abs(VI3F(1,1))abs(V14F(1, 1))

Xb={ abs(VIF(2,1));abs(V2F(2,1));abs{V3F(2,1));abs(V4F(2,1));abs(V5F(2,1));abs(V6F(2,1))
abs(V7F(2,1));abs(VEF(2, 1));abs(VIF(2,1));abs(V 10F (2, 1));abs(V 1 1F(2,1));abs(V 12F(2,1))



abs(V13F(1,1));abs(V14F(1,1))];

Xb=| abs(VI1F(2,1));abs{V2ZF(2,1));abs(V3F(2,1));abs(V4F(2,1)};abs(V5F(2,1));abs(V6F(2,1))
abs(VTF(2,1));abs(VRF(2,1));abs(VIF(2, 1));abs(V10F(2, 1));abs(VLIF(2,1));abs(VI2F(2,1))
abs(V13F(2, 1));abs(V14F{(2,1)}];

Xc=[ abs(VIE(3,1));abs(V2F(3,1)):abs(V3F(3, 1));abs(VAF(3,1));abs(VSF(3, 1));abs(VAF(3,1)); abs(V7F
(3,1);abs(VBF(3,1));abs(VIF(3,1)); abs(V10F(3,1));abs(V 11F(3, 1));abs(V12F(3,1))
abs(V13F(3,1)); abs(V14F(3,1)));

plot(H,Xa,H,Xb,H,X¢,H,Vt)

tille("Voltage in Bus')

xlabel("bus’)

ylabel(‘voliage (p.u)?)

text{1.5,1.05,Voltage from load flow")

text(6,0.1,'Voltage of Zero sequence’)

1ex1(6,0.9,"Voltage of posilive and negative sequence')
p=IW;reshape(Xa, 1, 14);reshape(Xb, 1,14);reshape(Xc, 1,14)]

disp{’~Voliage from fault—-;

disp(* %
displ BUS V({pu) Vipu)  Vipw) %

disp(’ Zeo  negalive posilive ');
dispf’ sequence equence  sequence ')

disp(* Y
fprintf(* %2.00 %2.4f %240  %2.40\n\w'p);
disp(* %

Tolsunsadowii 11
clear; cic; loadifow; symfauli;
fprinif{'Unbalance fault) ; Zf=0; Zbus0=Zbus; Zbusl=Zbus; Zbus2=Zbus;
a=cos{120*pi/180)+j*sin(120*pi/180);
A=l 1 1;1 a*23;l a a*2};
% single line to ground fault at bus 8 phase
%fprintf{’single line to ground Fault at bus 8 phase’)
111_0f=1.0/(Zbus1(1 1,1 1)+Zbus2(11,11)+ZbusO(1 1,1 1H3*Zf);
B1i=[I11_OLIl1_of:I11_of;
%fprint('the fault curren! is?
la=abs(3*111_0£);

Y%symmetrical components of bus voltage during fault



V1£={0-Zbus0(1,11)*111_0EV(1,1)-Zbus1(1,11)*11 1_0f;0-Zbus2(1,11)*111_0f];
V2£=[0-Zbus0(2,1 1)*111_0£V(2,1)-Zbus1(2,11)*11 1_OF0-Zbus2(2,11)*111_0f];

V31=[0-Zbus0(3,1 1)*111_OLV(3,1)-Zbus1(3,1 1y*[11_0£0-Zbus2(3,11)*111_01);
VAL=[0-Zbus0(@, 1 1)*111_01:V(4,1)-Zbus1(4,1 D)*111_0f;0-Zbus2(4,11)*111_0f];
V51={0-Zbus0(5, 1 1)*111_0£:V(5,1)-Zbus1(5,11)*11 1_0£:0-Zbus2(5,11)*111_01%;
V6E=[0-Zbus0(6, 1 1)*111_0LV(6,1)-Zbus1(6,11)*111_0 1:0-Zbus2(6, 1 1)*111_0f};
V7£=[0-Zbus0(7,11)*111_0£V(7,1)-Zbus1(7,1 1)*111_0R0-Zbus2(7,11)*111_0f};
VBF=[0-Zbus0(8,11)*111_0RV(8,1)-Zbus1(8,11)*1} 1_0F:0-Zbus2(8,11)*111_0f1;
VOL=[0-Zbus0(9,11)*111_0£;V(9,1)-Zbusi(9,11)*11 1_0f:0-Zbus2(9,11)*[11_0f];
V10={0-Zbus0(10,8)*18_0£V(10,1)-Zbus1(10,1 1*111_O£:0-Zbus2(10,11)*111_0f];
V11=[0-Zbus0(1 LR¥IR OEV(11,1)-Zbus1(11,11)*111_0£0-Zbus2(11,11)*i11_0f};
V12£={0-Zbus0(12,8)*18_0f:V(12,1)-Zbus)(12,11)*] 1 0£0-Zbus2(12,11)*111_0f];
V13£{0-Zbus0(13,8)*18_OEV(13,1)-Zbus(13,11)*111_0F0-Zbus2(13,11)*111_0f;
V14£=[0-Zbus0(14,8)*18_0£;V(14,1)-Zbus1{14,1 111 _0£:0-Zbus2(14,1 1)*111_0f];

VIF=ASVIL V2E=A*V2f; VIF=A*V3LVAF=A*VA[ VSF=A*V5EVOF=A*V6E VIF=AVTL,
VEF=A*VE{ [VOF=A*VILVIOF=A*V10GV1 IF=A*VI11LVI2F=A*VI2[ VIIF=A*VIILVI4F=A*Y 141
fprintl(\rln ~ TYPE OF FAULT CURRENT FAULT  refay trip breaker at Bus )

fprintf(\n\n\n  LINE TO GROUND %SfF 8 \n\o\n 'Ta)

H=1:1:14;

={ abs(V1F(1, 1));abs(V2E(1,1));abs(V3F(1, 1));abs(VAF(l, 1));abs(VSE(1, 1))abs{V6E(L,1))
abs(V7F(1,1));abs(VEF(1, ));abs(VOF(1, 1));abs(V 10F(1,1));abs(V 1 1F(1,1));abs(VI2F(11)
abs(V13F(1,1));2bs(V14F (1, 1)k
Xb=] abs(V lF(2,l));abs(V2F(2,l));abs(V3F(2,l));abs(V4F(2,1));abs(V5F(2,l));abs(V6F(2,1))
abs(V7F(2,1));abs(V8F(2,1));abs(V' 9F{2,1));abs(VI0F(2,1));abs(V} 17(2,1));abs(V12F(2,1))
abs(V13F(2,1));abs(V14F (2, 1));

Xe=[ abs(VIF(3,1));abs(V2E(3, D));abs(VIF(, 1));abs(VAF(3,1));abs(V5F(3,1));abs(V6F(3, 0); abs(V7F
(3,1):abs(VEF(3, 1));abs(VIF(3,1)); abs(V1UF(3, 1));abs(V 11F(3,1)),abs(V12F(3,1))
abs(V13F(3,1)); abs(V14F(3,1))];

plot(H,Xa,H,Xb,H,Xc,H, Vi)

title('Voltage in Bus)

xlabel(bus?)

ylabel(*voltage (p.u)}

text(1.5,1.05,'Voltage from load flow")

texi(6,0.1, Voitage of Zero sequence’)

text(6,0.9, Voltage of positive and negative sequence’)
p={W;reshape(Xa, 1,14);reshape(Xb,1,14);reshape(Xc, 1,14)]



disp(~Voltage from fault——);
disp(*- %
displ BUS V(uw  V(pu)  Vi(pu) )

disp(' Zero  negalive  posilive ')

disp(* sequence equence  sequence );
disp(* Y%
fprintl" %2.0f %2.4f %24f  %2.4f\n\n'p);
disp(" )

Tsunsushedl 12
clear; cle; loadftow; symfauli;
fprint{'Unbalance fault) ; Zf=0; Zbus0=Zbus; Zbus|=Zbus; Zbus2=7bus;
a=cos(120*pi/180)+5*sin(120*pi/180);
A=[1 1 1;1 a*2al a a*2};
%4 single line to ground fault at bus 8 phase
%fprintf('single linc to ground fault at bus § phase’)
1i2_0f=1.0/(Zbusl{ 12,12+ Zbus2(12, 120+ Zbus0{12, I2H3*Z1);
BI2=[112 0L112 0f112 0f);
%fprint{'the fault ¢urrent is’)
Ta=abs(3*112_0);
%symmetrical components of bus voltage during fault
V1£=[0-Zbus0(1,12)*112_0£:V(1,1)-Zbusi(1,12)*112 0 C0-Zbus2(1,12)*112_01];
V2£=[0-Zbus0(2, 12)*112_0EV(2, 1)-Zbus1(2,12)*112_0£;0-Zbus2(2,12)*1 12_01};
V3£=[0-Zbus0(3,12)*112_0£V(3,1)-Zbus1(3,12)*1 12_0r0-Zbus2(3,12)*112_0);
VAf=[0-Zbus0(4,12)*112_0£V(4, 1)-Zbus1{4,12)*112_0£.0-Zbus2{4,12)*112_0f];
V5E=[0-Zbus0(5,12)*112_0£:V(5,1)-Zbus1(5,12)*112_0F0-Zbus2(5,12)*1) 2 0f);
V6£=[0-Zbus0(6,12)*112_0f:V(6,1)-Zbus1(6,12)*112_0f:0-Zbus2(6,12)*112_0f];
V7=[0-Zbus0(7, 12)*112_0f:V(7,1)-Zbus1(7,12)*112_0;0-Zbus2(7,12)*112_0];
V8E=[0-Zbus0(8,12)*112_0£:V(8,1)-Zbus1(8,12)*112_0£:0-Zbus2(3,12)*11 2_0f];
VOE=[0-Zbus0(9,12)*112_0£:V(9,1)-Zbus1(9,12)*112_0£0-Zbus2(9,12)*1] 2_0f;
VI10f=[0-Zbus0(10,12)*112_0£V(10,1)-Zbus1(10,12)*112_0£,0-Zbus2(10,12)*1! 2 .01,
V11={0-Zbus0{11,12)*¢112_0£V(11,1)-Zbus1(11,12)*112_0£,0-Zbus2(11,12)*] 12_01};
VI126=[0-Zbus0(12,12)*112_0CV({2,1)-Zbus1(12, 12)*112_0£:0-Zbus2(12,12)*112_01];
V13£=[0-Zbus0(13, [2)*112_0£:V(13,1)-Zbus1(13,12)*112_0£;0-Zbus2(13, 12)*112_01];
Vl4&[0-Zbu50(l4,l2)‘112__0[‘;V(l4,l)-Zbusl(l4,12)"112_()l‘,0-2bu32( 14,12)*112_01];
VIF=AVIL: V2F=A*V2f: VIF=A*VIf,VAF=A*VAf [VSF=AYWSLVOF=A*V6LVIF=A*VT;



VEF=A*VSf ;VOF=A*VOL,VI0F=A*V OEV1IF=A*V1IEVI2F=A*VI2f V13F=A*VI3EVI4F=A*V14f)

fprintf’ma  TYPE OF FAULT CURRENT FAULT  relay trip breaker at Bus )

forint{(\n\n\n LINE TO GROUND %S5[ 8 o\ '[a)

H=1:1:14;

Xa=[ abs(V 1F(l,l))'.ahs(VZF(l,l));abs(V3F(l,l));abs(V4F(l,l));abs(VSF(I,l));abs(VGF(l,l))
abs(VTF(1, 1));abs(V8F(1,1));abs(VIF(l, 1));abs{V 10F(1,1));abs(V1 1F(1,1));abs(V12F(1,1))
abs(V13F(1,1));abs(V14F(1,1))];

Xb=[ abs(VIF(2,1));abs(V 2F(2,1));abs(V3F(2,1));abs(V 4F(2, l));abS(VSF(fZ,l));abs(V6F(2, 1}
abs(V’lF(’l,l));abs(VBF(Z,l));abs(V9F(2,l));abs(VlOF(Z, 1));:abs(V11F(2,1));abs(V12F(2,1))
abs{V 13F(2,1));abs(V14F(2,1))};

Xe={ abs(VIF(3,1));abs(V2F(, 1));abs(VIE(3, 1)):abs(VAF(3, 1)):abs(V5F(3,1));abs(V6F (3,1));

(3,1);abs(V 8F(3,1));abs(VIF(3,1)); abs(V10R(3,1));abs(V} 1F(3,1));abs(V12F(3,1))

abs(V13F(3,1)); abs(V 147,10

plot(H,Xa, H,Xb,H,Xc,H.V0)

title(‘'Voltage in Bus)

wlabel(bus’)
ylabel(*voltage (p.u)'}
text(1.5,1.05, Voliage [rom load flow")
1ext(6,0.1, Voltage of Zeto sequence’)
text(6,0.9, Vollage of positive and negative sequence’)
P=[w;m5hape()(a,1.l4);reshape(xb,l.l4);reshape(Xc,l,l4)]
disp('—Voitage from fault—-"};

disp(’ %
disp(' BUS Vipu) Vipu)  Vipw %
disp(’ Zero  negative positive ;

disp(" sequence  cquence  Sequence %
disp(" %
forintf(' %2.00 %2.4f %2.4f  %2.4f\n\',p)
disp(* %

Tulsunsusaefi 13

clear; clc; loadflow; symfault;
fprintf’Unbalance fault') ; Z&=0, Zbus0=2bus; Zhus1=Zbus; Zbus2=Zbus;
a=cos(120*pi/180)+j*sin(120*pi/ 180);

A=l 1 I;1 2°2a;1 a a°2];

% single line to ground fault at bus 8 phase

abs(V7F



% fprintf{’single line to ground fault at bus 8 phase’)

113_0F=1.0/(Zbus1(1 3.13}+Zbu82(l3,13)+2bu50(13,3 DHI*ZE);
B13=[113_O£N3_0£[13_0f;

%fprintf{'the fault current i)

Ta=abs(13*18_00);

%symmeirical components of bus vollage during fault

V1£=[0-Zbus0(1,13)*1] 3_0RV(1,1)-Zbus1(},] 3)*113_0f0-Zbus2(l, 13)*113_0f];
V2£=[0-Zbus0(2,13)*11 3 0RV(2,1)-Zbus1(2,1 3)*113_0F0-Zbus2(2,1 3)13_0f;
V3£=[0-Zbus0(3,13)*113_0£;V(3, 1)-Zbusl(3, 13)*113_0£0-Zbus2(3, 13)*113_0f};
V4f=[0-Zbus0(4,13)*113_OLV(4,1)-Zbus1(4,13)*1 13_0£0-Zbus2(4,13)*113_01);
V5E=10-Zbus(S, 13)#113_OLV(5,1)-Zbus1(5,13)#113_0T0-Zbus2(5,13)*113_0f;
V6£=[0-Zbus0(6,13)*] 13_0£:V(6,1)-Zbusl(6,13)*] l3_0f;0-2hus2(6,13)‘113_0ﬂ;
V7E=[0-Zbus0(7,12)*113_0£V(7,1 }-Zhus1(7,13)*11 3_0R0-Zbus2(7,13)*11 3 0f;
V&a£=[0-Zbus0(8,13)*[13_0f;V(8,1)-Zbusl (8,13)%113_0£0-Zbus2(8, 13)*113_01%;
VOL=[0-Zbus0(9,13)*113_0LV(9,1)-Zbus 1(9,13)*[13_0£:0-Zbus2(9, 13)*113_of;
V10£=[0-Zbus0(10, 13)*113_0£:V(10,1)-Zbus1(10, 13)*113_0£0-Zbus2(10,13)*113_0f];
V1=[0-ZbusO(L1,13)*1 13_0GV(11,1)-Zbusi(L1, 13)*113_0£0-Zbus2(1 1,13)*113_of};
VI12E={0-Zbus0(12,13)*113_0£ V(1 2,1)-Zbus1(12,13)*] 13_0£0-Zbus2(} 2,13)13_0f);

V13£=[0-Zbus0(13, 13)"'1lS_OﬁV(lS,l)—Zbusl(B, 13)#113_0f;0-Zbus2(13,13)*] 13_0f};

V146=[0-Zbus0(14,13)*113_0L;V(14, 1)-Zhus1(14,13)*1 13_0£:0-Zbus2(14, 13)*113_013;

VIF=A*VIf, V2ZF=A*V2i, VIF=A*VALVAF=A*VAL ;V5F=A“‘VSf;V6F=A*V6f;V7F=A“V7l‘,

VRF=A*VS{ ;VIF=A*VILVI0F=A*VIOLVI IF=A*VIIEYI2P=AWI2U )V 13F=A*V 3LV HMF=A*V AL
frint{\Mn  TYPEOFFAULT CURRENTFAULT  relay trip breaker at Bus )

forintf(\n\o\n ~ LINE TOOROUND  %5f 8 \nn\n ‘la)

H=1:1:14;

Xa={ abs(VIF(1,1));abs(V2F(1, 1));abs(V3F(1, 1));abs(VAF(1,1));abs(V 5F(1,1));abs(V6F(1,1)}
abs(V7F(1,1));abs(V8F(1, 1));abs(VOF(1,1));abs(V 10F(1,1));2bs(V11F(1,1));abs(V 12F(L,1))
abs(V13R(1,1));abs(V 14F(1, 1))}

Xb=[ abs(VIF(2,1));abs(V2F(2, 1));abs{V3F(2,1)};abs(VAF(2,1 :abs(V5F(2,1));abs(V6F(2,1 »
abs(V7TE(2, 1));abs(V8F(2,1));abs(VIF (2,1));abs(V LOF(2,1));abs(V1 LF(2,1));abs(V12F(2,1))
abs(V13F(2,1));abs(V14F(2,1)];

Ke=[ abs(V1F(3,1));abs(V2F(3,));abs(V3F(, 1)):abs(VAF(3,1));abs{V5F(3, 1));abs(V6F(3,1)); abs(VIF

(3,1);abs(V8F(3, ));abs(V 9F(3,1)); abs(V10F(3, 1));abs(V1 1F(3,1));abs(V12F(3,1))

abs(V13F(3,1)); abs(V14F(3, il

plot(H,Xa,H,Xb,H,Xc,H,Vt)

title{'Voltage in Bus')



xlabel(bus")

ylabel('voltage (p.u))

text(1.5,1.05, Voltage from load flow’)

tex1(6,0.1, Vollage of Zero sequence’)

1ex1(6,0.9, Voliage of positive and negative sequence’)

p=[W;reshape(Xa, l,l4);reshape(Xb,l,l4);reshape.()(c,l,l4)]

disp('—Voltage from fault---—--);
disp(’ %
disp BUS Vipw) Vpw)  Viu )

disp{’ Zero  negalive positive )
disp(" sequence oquence  sequence );
disp( );
fprintf %2.0f %2.4F %2A4F  %2Af \n\n',p);
disp(’ Y,
Talsunsadaufits

clear; cle; loadftow; symiaull;
fprintf Unbalance fault) ; Z0; Zhus0=Zbus; Zbusl=Zbus; Zbus2=Zbus;
a=cos(120*pi/180)+j*sin(120*pi/180);
A=l 1 1;1 a°2al a a*2];
% single line to ground fault at bus 8 phase
9% fprintf{'single line to ground favlt at bus 8 phase’)
14 0f=1.0/(Zbus1(14, 14+ Zbus2(14,14)+Zbus0(14, 14143+ Z1);
B3=[114_0f:114_0f114_0f);
% fprintfl'the fault current is’)
Ta=abs{3*114_0f);
%symmeirical componenls of bus voltage during fault
V1£=[0-Zbus0(1,14)*114_0LV(l, 1)-Zous1(1,14)*114_0L:0-Zbus2(1, 14)*114_011;
V2£=[0-Zbus0(2,14)*114_0£V(2,1)-Zbusl (2,14)%114_0F0-Zbus2(2,! 4)*114_0f];
V3£=[0-Zbus0(3,14)*114_0f;V(3,1)-Zbus 1(3,14)*114_0£,0-Zbus2(3, 14)*114_0f];
V4f=[0-Zbus((4,14)*114_0f;V(4,1)-Zbusl (4,14)*114_0F0-Zbus2(4,14)*11 4 0f);
V5£=[0-Zbus0(5,14)*114_0f,V(5,1)-Zbus} (5,14)*114_0£,0-Zbus2(5,14)*] 14 011;
V6£=[0-Zbus0(6, 14)*114_0LV(6,1)-Zbus 1(6,14)*114_0L0-Zbus2(6, 14)*114_01];
VT=[0-Zbus0(7, 14)*114_0f;V(7,1)-Zbus 1(7,14)*114_0£:0-Zbus2(7,14)*1 14_01];
V8F=[0-Zbus0(8,14)*114_0f;V(8,1)-Zbus1 (8,14)*114_0£.0-Zbus2(8,14)*11 4_0f);
VOL=[0-Zbus0(9, 14)*114_0FV(9,1)-Zbus1(9, 14)*114_0£0-Zbus2(9,14)*114_0f];



V10=[0-Zbus0(10,14)*114_0£V(1 0,1)-Zbus1(10,14)*114_010-Zbus2{10,14)*114_Of;

V11£=[0-Zbus0(1 1,14)*114_0£:V(11,1)-Zbus1(11,14)*114_0f,0-Zbus2(] 1,14)*114_0f];
V126=[0-Zbus0(12,14)*114_0L:V(12,1)-Zbus1(12,14)*[14_0£0-Zbus2(12, 14)*[14_o0f};
V13£=[0-Zbus0(13,14)*114_0£:V(13,1)-Zbus1(i3, 14)*114_0£0-Zbus2(13,14)*114_0f];
V14=[0-Zbus0{[4,14)*114_0LV(14,1)-Zbus1(14,14)*114_0f,0-Zbus2(!4, 14)*114_01};

VIF=A*VIL: V2F=AYV2L VIF=AYWILVAF=ASVAL SVSF=ASVSEVOF=A*VGEVIF=A*VTE,

VBF=A*VS{ ;VIF=A*VIL:VIOF=A*V10LVIIF=A*V11£VI2F=A*V12f iVIIF=AYWI3£VI4F=A*V14f,
fpintf{"\n ~ TYPEOF FAULT  CURRENT FAULT relay trip breaker at Bus ‘)

forintfo\nn LINE TO GROUND %Sf £ \own ‘a)

H=1:1:14;

Xa=[ abs(V 1F(1,1));abs(V2E(1, 1));abs(V3IF(1,1)};,abs(V4F(1, 1));abs(V5E(1,1));2bs(VEF(L,1))
abs(VTF(1,1));abs(VEF(1,1));abs(VIF(1,1));abs(V 10F(1,1));abs(V1 1E(1,1)):abs(V12R(1,1))
abs(V13F(1,1));abs(V14F(1,1))1;

Xb=[ abs(V1F(2,1));abs(V2F(2,1));abs(V3E(2,1));abs(VAF(Z, |));abs(V5E(2,1));abs(V6F(2, 1))
abs(VTE(2, 1));abs(VBF(2,1));abs(VIF(2, 1));abs(V10F(2, 1));abs(V11E(2, 1));abs(V12F(2,1))
abs(V13F(2, 1));abs(V 14F(2,1))];

Xe=[ abs(V1F(3,1));abs(V2F(3,1));abs(V3F(3,1));abs(VAF(3, 1));abs(V. SF(3,1));abs(VOF(3,1)); abs(V7F

(3,1);2bs(V8F(3,1));abs(VIF(3,1)); abs(V10F(3,1));abs(V1 1F(3,1));abs(VI2F(3,1)

abs(V13E(3,1)); abs(V14E(3,1));

plot(H, Xa,H,Xb,H,Xc,H,V()

titie("Voliage in Bus’)

xlabel('bus’)

yiabel('voltage (p.u))

text(1.5,1.05, Voltage from load flow")

1ex1(6,0.1,'Vollage of Zero sequence’)

text(6,0.9,Vollage of positive and nepative sequence’)
p=IW;reshape{Xa,1,14);reshape(Xb, 1, 14);reshape(Xc,1,149]

disp(—Voltage from fauit——-9;

disp(' %

disp{ BUS V(pu) Vipu) Vipw )%

disp({' Zero  negative positive ')

disp(* sequence equence  sequence  );
disp(* X
forintf('  %2.0F %2.4f %2.4f %2.4f \n\',p);

disp(* %
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